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2. (Unemploymentfjobs) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?
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2. (Education) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?
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2. (Taxes) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?
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2. (Crime and violence) Now, on these three issues that are most important to you, which party do you think s the best to deal with them?
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9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH - JIK/LIMINIOIPIQIR - SITIUNIWIXIY - Z/alb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2 Now, on that are most important to you, [ you think is the best to deal with them?

GENDER EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

TOTAL Female < PosiSec UnivGrad e Party party  Party(NOP) __(8Q) a Party other party __ballot ure 5
A 3 c ) E 3 G H ' J K L 0] N o P [ R s i U v w X 2 z a b < d e
Base: All answering &17 285 ESy 134 210 273 15 % 265 21 3 255 s & 5 2 3 2% g 57 7 110 100 118 21 El 37 103 16 o7 107 27
Weighted 524 259 265 a5 163 217 5 T8 187 167 2 226 &3 35 75 el el o £ 7% 7T S 75 57 T00° 30 2 5 132 103 75 S
231 04 27 72 & %2 7 50 1 53 27 71 % o i 2 0 5 6 [ 3 37 % 0 0 [ 0 2 59 o1 £ El
The Green Party 4% 40% 8% 51% 0% 2% 8% 0% 3% 5% 3% 3% % a5% 95% 70% 1% 26% 6% 56% 5% % 3% 5% 0% 3% 3% 38% % 59% 2% 0%
IR v ©
157 % &7 El 50 77 1 ES E El 5 138 2 2 T 0 0 5 z 7 1 El 21 % % i) 5] 3 51 i 3 %
The Liberals 30% 35% 5% 21% 3% 35% 0% 2% 2% 3% 7% 61% 3% i % - - 29% 1% 6% 26% 343 26% 30% 36% a7 2% 2% 3% 8% 2% 31%
3 C I s s
[ 27 5 [ 7 [ 2 i 2 ) 5 2 3T T 0 0 2 0 T 7 6 7 7 5 0 . 7 T 12 £l 3 3
The NOP % 10% 6% 9% %% 7% 3% i 2% % &% 1% 9% % - - % - 3% 0% &% % % % 0% - % 3% % % % %
RN LI
Bl ) e s g s 0 % 5 5 19 T 3 T 0 0 0 0 0 T 6 3 5 z 7 T 5 z 3 3 7 5
The Consenatives 5% 5% 5% 5% 5% % - 5% 7% 3% 3% % % 3% - - - - - 2% 9% % &% % % % 2% 5% 2% % 5% &%
RLMN K
g a 7 a T 7 2 3 z 2 0 0 0 T 0 0 0 0 0 2 T 0 0 T 3 . 2 . 2 T T 5
The Bloc Québécois (BQ) 2% % 3% % 0 % 5% % 2% 1% - - - 315 - - - - - % 2% 0 % % ) 1% 5% - % 1% % %
IRV
3 2 T 3 0 0 0 T T T 0 2 0 0 0 T 0 0 0 T 2 0 0 0 0 0 2 0 0 T 0 0
The People's Party of Canada % % 0 2% - - - % 0 % - % - - - 30% - - - % 3% - - - - - % - - 1% - -
2 2 0 2 0 0 0 0 2 0 2 0 0 0 0 0 0 0 0 0 2 0 0 . 0 . 2 . 0 . 0 0
Some other Party o % - % - - - - 1% - 2% - - - - - - - - - 2% - - - - - % - - - - -
K
5 ) % ) Bl ) 3 % 5 T 5 3 2 3 3 0 T s B 7 z 3 5 3 7 2 2 i 7 o £ )
None of them -theyre allthe same 0% 7% 1% % 5% % 1% 8% 8% i &% % % % % - 2% 3% 7% 0% % 1% 20% 1% % &% % 2% 5% % 16% 4%
L) Gl X
S 520 259 265 15 168 217 3 T2d 167 T67 62 226 & 3 i 3 3 ) El 7 i 55 i3 &7 100 £ 2 3 132 103 i (3
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

2. (Extremism/terrorism) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

Detailed Tables

EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
rvatiy TheLiberal Democratic ~Québécois TheGreen  People’s  Orsome  ouldspoil  KnowiNot
TOTAL Female PostSec  UnivGrad eParty Party (NDP) party P other party _ballot
A 3 E i P Q Y <

Base: All answering 1 3% % E) 31 8 3 9 32 7 21 5 2 5 3 0 T ) 10 5 7 20 1T 2 3 3 7 7 2 5 17 5
Weighied Gy T o T 2 T o o 7 o o g e el 7 F el 5 o o o 7 g > e T Fe 5 5 T3 7

£ 2T T 0 7 0 2 [ 2 7 2 3 3 [ 0 [ 0 T 2 5 5 7 2 7 2 2 T 3 7 T 7 T
The Consenatives 52% 59% 4% 83% 25% 2% 23% 73% 57% 2% 3% 2% 67% 1% - - - 3% 24% 100% 6% 2% 3% 0% 1% 55% 5% 4% 0% 6% 26% 1%

[ 7 5 2 i T Z 0 Z 5 z 7 0 T 0 0 0 0 0 0 2 o 0 T 0 0 2 5 T 0 5 0
The Liberals 7% 2% 7% 1% 3% 7% 57% - 7% 36% 7% 70% - 38% - - - - - - 23% 525 - % 9% - 5% 38% % - 3% 5%

2 2 0 0 2 0 0 T 0 0 0 0 T 0 0 0 0 0 0 0 0 T 0 . 0 . 0 Z 0 . 0 0
The Green Pary % 5% - - % - - % 2% - - - 3% - 9% - - - - - - &% % - - - - 5% - - - -

T 0 T T 0 0 0 0 0 T 0 0 0 0 0 0 0 T 0 0 T 0 0 0 0 0 0 0 0 T 0 0
The NDP 2% - % &% - - - - - 5% - - - - - - - 36% - - 1% - - - - - - - 2a% - -

T 0 T 0 T 0 0 0 T 0 0 0 0 0 0 0 0 0 T 0 0 0 T . 0 . 0 . 0 . T 0
The Peaple's Party of Canada 2% - % - % - - - 5% - - - - - - - - - 1% - - % - - - - - - - % -

T 0 T 0 T 0 0 0 T 0 0 0 0 0 T 0 0 0 0 0 0 0 T 0 0 0 0 0 0 0 T 0
Some other Party 2% - % - % - - - 5% - - - - - 0% - - - - - - 3% - - - - - - - % -

g 5 6 0 6 5 2 3 3 3 0 0 0 2 T 0 T T 6 0 0 3 3 T 0 Z 0 3 2 . 3 3
None of them hey e allthe same 0% 5% 20% - 2% 1% 20% 9% % 2% - % - 8% % - 100% 30% 6% - - 8% 34% 3% - 5% - 4% 2% - 2% 4%
- ) 3 % 0 % 0 5 T o ) % T 7 3 B 0 T 3 S S O T 7 T B 3 5 [ 5 5 5 7

9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - A8 - CIDIE - FIGIH - JK/LIMINIOIPIQIR - SITIUNIWIXIY - Zialb - clde Overlap formulae used. * small base; **very small base (under 30) ineligble for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (immigration) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

EDUCATION

The New

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

TheLiberal Democratic ~Québécois TheGreen  People's  Orsome  ouldspoil  Know/Not
TOTAL Female s Univ Grad art Party (NDP)  (8Q) Party Party other party _ballot ure 5
A B c o) E 3 G H I 3 K L ] N o P Q R S T v v w X Y z a b c d e
Base: Allanswering 319 151 168 64 122 133 17 55 154 9 122 59 27 32 13 10 1 21 34 16 8 70 52 51 5 T 22 52 kil az 70 56
Weighied 296 155 120 75 o7 T4 3 2 o7 75 27 T 307 o 7 o+ £ o7 £l 25 52 i a5 I 5T Ed 3 7 78 2 50" 36
5 6 57 2 7 7 G % 7% 36 5% 7 Z 3 T 0 T Z 5 5 = 27 21 20 7 11 4 £ % 1 2 )
The Consenvatives 2% 24% 1% 38% 5% 3% 18% 6% 3% a1% 7% 15% 8% 18% 8% - To0% 1% 26% 26% 24% 4% 8% 9% 34% 50% 5% 2% 5% 33% 8% 39%
K
a7 ] % FE] 7 FE] % 7 [ ) 5 S T 3 2 o o 7 3 5 B ) B T 7 T T fE] B EE] B 5
The Liberals 16% 1% 18% 1% 20% 1% 18% % 15% 25% ™% 5% % 1% % - - 2% 8% 2% 5% 23% 1% 1% 15% 5% % 28% 10% 27% 1% 15%
G 7 b
& % 5 5 5 ) 5 0 6 3 0 5 0 [ 0 0 0 2 G 5 T 2 z 5 2 5 5 3 20 T 7 3
The Peaple’s Party of Canada 1% 18% % 8% % 20% 16% 12% 15% % 8% 12% - - - 100% - 1% 18% 22% 2% % 5% 1% 20% 27% 16% % 26% 3% 3% %
5 © T o a
27 15 EH] @ 5 7 o © 0 7 2 2 ] T 2 o o o 2 % B 7 7 T 1 T 5 2 7 5 % T
The NDP. % 10% % 19% &% % - 13% 9% % % % 6% % 1% - - - % 25% 16% ™% 9% 9% 1% 1% 28% 5% 5% 12% 10% 2%
E X
2 5 5 T 3 g 0 7 Q 2 0 T 0 0 0 [ 0 [ 0 [ T 2 T 7 7 ) 0 z 7 ) T 7
The Bloc Québécois (BQ) % % % 1% 2% 7% - 5% 5% % 0 2% 1% 54% - - - - % - 1% % 1% 10% 8% % 1% % 5% 1% 1% 12%
T
5 H 5 T 5 . 7 T T o T T o o 5 o o o o o T 7 T T O T 0 T O T 7 T
Some other Party % 1% 5% 1% 5% 0 13% 1% % - % % - - % - - - - - ™% ™% % % - - 1% 2% - 1% 7% 1%
5 2 3 3 T 2 0 T z 2 0 0 T 0 z [ 0 T 0 T z [ 0 ) T T 0 ) 7 3 0 T
The Green Party 2% 1% 2% % - 2% - 2% 2% 3% - 1% % - 16% - - 8% - 5% % - - - 2% 5% - - % ™% - -
70 1 27 3 i 5 T © T 7 5 5 % 2 T o o % 15 o 5 3 B T B 2 T 5 % 7 T Bl
None of them -they'e al the same 1% % 19% 12% 15% 13% 3% 13% 10% 10% % 10% 19% 1% % - - 0% 1% - % 13% 18% 10% 1% 10% 5% 1% 7% 17% 18% 25%
A
S 29 155 120 75 07 FiT) 31 52 07 75 127 a7 30 6 2 10 T 6 6 2 52 o2 5 a1 51 22 31 % 78 W 50 6
oma 100% 100% 100% 100% 100% 100% T00% 100% 100% 100% 100% 100% T00% 100% 100% 100% T00% 100% 100% 100% T00% 100% 100% 100% 100% 100% 100% 100% 100% 100% T00% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

d ethics

Now, on

TOTAL

that are

Male

GENDER

you, which party do you think is the best to deal with them?

EDUCATION

Univ Grad

The

rvativ  The Liberal
e Party

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's

Party

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

arty  Party (NDP)  (BQ) a other party _ballot ure 5
A 3 c D E 3 G H ] 3 K L 0] N o P Q R S T Y v w X Y z a b < d e
Base: All answering 753 Ta7 06 37 i 39 10 39 138 6 106 37 2 14 32 9 2 10 21 13 24 33 ) 51 5 % 1 5 % 2% 31 9
Weighted 248 150 %" I &5 a2 307 57 10 51 115° 30 20+ 7= 3 E 7 7 25 o+ 25+ 2 i 51 o1 30 2 T 5 27 20 a7
% &5 £ S 8 & 7 % [ % 5 2 0 [ 7 [ 0 T 0 7 9 7 T T 28 2 7 [ W 5 5 6
The Consenatives 3% 3% 3% 32% 2% 5% 3% 50% 1% 5% 75% % - % 2% - - 1% - 25% 6% 31% 26% 28% 5% 76% 29% 30% 51% 33% 2% 34%
O
E % e 7 ) 2 5 5 5y o 5 2 7 0 19 0 0 2 T 7 0 2 5 8 5 3 3 ) 5] T 2 5
The Green Party 5% 7% 2% 0% 7% 4% 39% % 0% 9% 5% % 34% - 6% - - 2% 5% 26% - 8% 28% 16% 15% 10% 21% 27% 12% 5% 10% 17%
i3 ) 6 3 3 ) 0 0 T 5 T 2 T 0 2 0 0 T 0 T 2 T 2 3 5 T T Z 5 Z 0 T
The NOP % 7% &% % % 7% - - 10% 1% 1% 5% 52% - 7% - - % 2% % 9% 5% % 6% 9% % 9% 6% % &% 2% &%
G
© o 7 5 Z 7 2 3 0 2 5 2 T T 2 5 0 0 0 T z 2 T 3 3 2 2 T 7 z 3 0
The Peaple’s Party of Canada % &% 7% 1% 5% 5% % % 9% % 5% i 3% 1% % 59% - - - 7% 7% 10% 3% 5% % 6% 11% 2% 8% 1% 12% -
i3 3 5 7 z a 2 T 0 3 0 ) 0 0 0 0 2 0 0 3 5 7 0 3 2 . 2 3 3 5 2 T
The Liberals &% 5% &% 8% % % 5% 2% %% % - a5% - - - - 1% 5% % % 6% 7% % 5% 3% - 16% 6% 3% 19% 8% %
g 5 Z 0 T 7 0 7 3 2 2 T 0 5 0 0 0 0 0 0 0 T T z 2 0 0 T 3 0 0 z
The Bloc Québécois (BQ) 5% 3% 5% - 2% 5% - 6% 3% 3% 1% % - 69% - - - 6% 2% - - % % % % % - % % - - %
T 0 T T 0 0 0 0 0 T T 0 0 0 0 0 0 0 0 0 T 0 0 . 0 . 0 . 0 T 0 0
Some other Party 1% - 1% 3% - - - - - 2% 1% - - - - - - - - - 5% - - - - - - - - 5% - -
57 % B 7 7 2 T 6 Bl 5 7 7 2 T z 7 0 3 2 3 z 5 5 i3 5] T 2 i 5 z T i)
None of them -they're all the same 2% 8% 30% 6% 3% 20% 3% 2% 2% 0% 2% 2% 1% 1% 2% 1% 9% 5% 50% % 6% 25% 3% 31% 20% 2% 15% 25% 16% 16% 1% 29%
T
S 248 150 % i 3 14z 30 57 0 B 116 30 2 7 e 9 2 7 2 9 B % i 51 o1 £ 0 a1 % 27 2 [
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% isk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Poverty and social inequality) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

EDUCATION

The

rvativ  The Liberal

The New

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

Democratic ~ Québécols TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female Univ Grad arty  Party(NOP) _ (8Q) party par other party _ballot sure 5
A 3 c D E 3 G H I J K L 0] N o P Q R B i U v w X 2 z a b c d e
Base: All answering 267 108 159 & 04 101 % 5 115 7T 28 91 5 16 2 0 T 20 3 19 a3 El 50 El T 5 16 5T o 6 53 50
Weighted 273 07 66" 82 104 &7 e 7 &7 a5 25 03" 75 T2 52 T 25 26 35 a5 560 a7 5" £ 7 27 507 35 50 £ 52
i % 52 2 % 30 2 [ & [ T 66 3 T 0 [ 0 [ 6 5 13 [ 0 [ 0 2 5 5 T [ 7 [
The Liberals 2% 2% 3% 26% 25% 4% 34% 20% 3% 26% 5% 64% 5% % % - - 1% 2% 2% 30% 2% 29% 36% 30% 2% 2% 8% 3% 7% 2% 36%
T
75 E3 0 s E 77 2T % % 3 6 T 2 6 0 0 3 z T % o 5 IS ) 2 3 o £ IS 5] [
The NDP 2% 3% 20% 2% 29% 31% 29% 30% 7% 1% 5% 8% 6% 9% - - 2% 5% % 7% 3% Z5% 30% 31% 8% 2% 37% 0% %% 2% Z5%
Gl K
£l 3 7T 5 5 3 12 5 z 2 0 2 0 0 9 0 0 T T i) 2 3 2 Z T . T Z 0 i) 3 3
The Green Party %% % 2% 9% 5% % 16% % 5% % - 2% - - 8% - - 5% 5% 3% 3% 5% % 5% 3% - % % % 2a% &% &%
A OF
Bl 14 9 7 i 7 0 % 7 3 % 7 T 0 0 0 0 T T 0 7 s T 5 2 0 7 8 2 2 2 5
The Consenatives 9% 1% % % 9% % - % 16% i 6% % 3% - - - - 5% 3% - 5% 5% 3% 0% 5% 1% 2% 6% % % % %
i) T g 5 6 T 5 5 2 2 2 a 0 0 5 0 0 T 0 2 3 5 0 . T . T T 0 5 5 T
The Peaple's Party of Canada 5% % % &% &% % 7% % 2% % %% % % % 4% - - % % % % 0% 1% - 3% - % 1% - % 0% %
g 5 3 3 z 2 Z 3 T 0 0 0 0 7 0 0 0 0 0 2 T 2 0 T T 0 3 0 T 0 2 T
The Bloc Québécois (BQ) 3% % 2% % 2% 3% &% % 1% - - - - 543 % - - - - &% 2% % % 2% 3% - 5% - % - % 2%
T 0 T 0 T 0 0 0 T 0 0 0 0 0 0 0 0 T 0 0 0 0 T . 0 . 0 . 0 . T 0
Some other Party 1% 0 1% - 1% - - - % 1% - 0 - - - - - 5% - - - 1% 2% - - - - 1% - - % -
2 B B ) B 6 1 7 0 % T T 3 3 2 0 T 15 5 o 3 5 7 8 g 0 5 7 3 7 i i
None of them -they're allthe same 19% 2% % 5% 2% 9% 2% 2% 2% 1% 5% 0% 7% 2% % - 100% 9% 53% 25% % 1% 36% 7% 24% - 2% 2a% 7% 2% 20% 20%
T
S 273 07 166 52 04 57 6 T 57 49 2 103 o [ 2 [ T % E 3 3 56 a7 9 & a 2 50 3 50 54 52
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AJB - C/DIE - FIG/H/ - JIK/LIMINIO/PIQIR - STTIUNIWIXIY - Ziab - cidle Overlap formulae used.

* small base; ** very small base (under 30) ineligible for si

g testing

(tab) of (tables)



FED VOTE

Stab

2. (Health care) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER EDUCATION

The

The New

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

rvatiy TheLiberal Democratic ~Québécois TheGreen  People’s  Orsome  ouldspoil  KnowiNot
TOTAL Female < Univ Grad e Party Party  Party(NDP)  (BQ) Party Party other party _ballot ure 5
A 3 c ) E 3 G H ' 3 K L 0] N o P [ R S T Y v W X Y z a b < d e
Base: All answering 739 212 a7 145 296 298 33 T64 321 221 148 %62 EQ 37 51 3 2 38 112 a2 103 149 a7 139 122 37 29 103 140 116 93 58
Weighted 726 296 430 157 271 295 E 233 236 161 7 246 100° 21 52 el el w5 T10° B T02° 26 145 1407 115 a5 E 1007 165 128 i 135
240 T 129 56 7 3 % &3 51 &7 6 159 9 2 5 T 0 2 6 20 £ [ [ ) @ [ T 0 56 [ W £
The Liberals 3% 7% 30% 7% 2% 32% 26% 2% 5% 2% % 81% %% % 0% 0% - % 4% 36% 7% 33% 31% 24% 39% 39% 7% 0% 34% 34% 28% 29%
G IR 7 W
22 El & % 3 55 5 E % % 03 [ 5 7 2 0 0 7 T 7 7 Bl E % £ IS 7 5 E 7 B B3
The Consenatives 7% 8% 16% 5% 16% 8% 1% % 9% 6% 70% % 5% 7% 5% - - % % 1% 16% 19% 1% 19% 13% 3% 21% 15% 20% 1% 1% 16%
RLVNR KIR
20 2 1 ) £ w 5 E T £ 7 [ 5 0 6 0 0 5 5 [ 27 3 £ 20 7 7 T 7 2 3 7 s
The NOP 16% 4% 8% 26% 1% 5% &% % 7% 19% % i 6% - 2% - - 1% 13% 2% 27% 12% 13% 1% 15% 15% 3% 12% 18% 32% 13% 1%
OF JRMNR 7 OV 3
a9 % B ) 7 B 5 m 0 s 5 7 8 0 % 0 0 0 T 5 3 7 [y 5 £ T 5 8 16 7 5 z
The Green Party 7% 10% 5% % % 7% 1% % % 5% % 3% % - 51% - - - % 1% % 5% 7% % 12% 1% 1% 8% 10% 5% 5% 3%
3 IKIMR W
i) 5 5 T z 3 0 5 z 2 0 T 0 T 0 0 0 0 T 0 T 2 2 5 2 . 0 T 7 T 3 T
The Bloc Québécois (BQ) 2% 2% 2% 1% % % - 3% 2% 2% - 0 - 5a% - - - - % - % 2% % % 2% 1% - 1% 2% 1% 2% %
IKINR
[ T T 2 5 G 5 0 5 3 5 T 0 0 T T 0 3 2 T 2 2 3 5 T 0 2 z 5 . 0 T
The People's Party of Canada 2% % 0 2% 2% 2% 5% - 2% 2% % [J - - 2% 9% - 7% 2% % 2% % 2% % % - % % % [ 0 o
3 K
T T 0 0 0 T 0 0 0 T 0 0 0 0 0 0 0 0 T 0 0 0 0 T 0 . 0 . T . 0 0
Some other Party 0 0 0 - 0 0 - - 0 0 - - - - - - - % - - 0 - 0 - - - - 0 - 0 -
169 3 25 ) 79 70 B &7 W % 21 m 8 7 [y T 3 2 7 s 5 El W a o 5 3 £ E i3 E 50
None of them -theyre allthe same 2% 5% 29% 2% 29% 2% 3% 29% 20% 1% 1% i &% 2% 20% 1% 100% 6a% 57% 5% 1% 27% 31% 31% 19% 1% 9% 20% 13% 13% 35% 3%
A c c T K K JKLMN T T T O <
S 726 2% 730 57 271 298 5 233 238 To1 a7 26 100 2 52 3 3 3 0 55 102 2% a5 a0 fre) 3 & 100 63 20 iz 35
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

2. (The economy) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
rvatiy TheLiberal Democratic ~Québécois TheGreen  People’s  Orsome  ouldspoil  KnowiNot
TOTAL Female Univ Grad e Party Party Party (NDP) Party Party other party _ballot
A 3 E I P ) [
Base: All answering 523 279 244 92 215 216 21 83 216 203 76 165 35 28 %5 a 1 22 a7 % 66 103 2 108 57 21 33 20 126 59 % £
Weighted 754 284 210 o7 02 204 B 16 169 7 192 157 E 5+ 7 G o 2 a7 £ 52 o T00° 01 72 29 e 115 T36* o 75 8
212 118 £ a i3 3 30 51 7 61 L T 5 3 2 T 0 5 7 3 % [ £ a £ [ T a1 6 30 £ 2
The Consenatives 4% 2% 5% 2% 0% 45% 50% 3% 0% 3% 9% 0% 20% 9% 4% 2% - 26% 5% a3 2% 1% 33% 3% 2% 63% 5% 36% 8% 6% 5% 3%
KR
T o7 a % 5 &0 7 % E El T 118 5 7 T 0 0 7 6 o % % 27 % % 5 ) a 3 IS 5 7
The Liberals 29% 4% 7% 27% 29% 29% 2% 2% 3% 37% % 76% 16% 25% 8% - - 8% 2% 2% 26% 30% 21% 27% 35% 21% 31% 38% 32% 2% 15% 25%
3 S B 3
7T 7 7 9 5 a 0 5 0 7 2 T g 0 T 0 0 0 0 2 6 7 5 3 2 . T 5 T 5 3 3
The NOP % % % 9% % % - 5% &% % % 1% 2% - 7% - - - % % 0% % 5% 3% 3% - 3% 5% 1% 12% % 5%
3
) 7 7 s 3 3 0 7 5 3 2 3 0 0 7 0 0 0 T 5 2 0 3 2 0 0 7 T 2 z 2 T
The Green Party % 3% % 8% 2% % - % % 2% % 2% - - 2% - - - 3% 1% 3% - 3% 2% 1% - 13% 1% 1% 5% 2% 1%
OE
™ ) 2 2 3 7 5 0 z a 5 T 0 0 0 7 0 0 2 0 2 0 3 5 T . T Z 7 T T 0
The Peaple’s Party of Canada 3% % 1% % 1% % %% - 2% % 3% 1% - - - 6% 100% - 5% - % - 3% [ 1% - % 1% 5% 2% 1% -
T
g 5 3 0 3 5 2 3 3 T 0 0 0 s 0 0 0 0 0 0 0 2 T Z T 0 0 3 3 0 T 3
The Bloc Québécois (BQ) 2% 2% 2% - 2% 3% 5% 3% % [ - [J - 50% % - - - - - - % % % % - - 2% 2% - 1% %
6 5 T 0 6 0 5 0 T 0 0 0 5 0 0 0 0 T 0 0 0 0 6 . 0 . 0 5 0 . T 0
Some other Party 1% % 1% - 3% - %% - % - - - % - - - - 5% - - - - % - - - - 5% - - 1% -
£ WX 0
7 ) % T El El 0 % % 7 0 o 3 T 5 0 0 T Ed 2 5 i3 2 i) i z 5 i) £ 5 % ©
None of them -theyre allthe same 6% 1% 2% 1% 20% 1a% 7% 2% 6% 1% 5% 2% &% i 27% - - 51% 6% % 1% 17% 2% 1% 15% 15% 1% 12% 10% 10% 31% 23%
A 3 K O
S w4 284 210 o7 o2 201 5 Tis 69 a7 T2 157 E T 7 5 0 2 a7 3 62 % 100 To1 7 2 & 15 136 61 i &
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (interest rates/Inflation) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

EDUCATION

The

rvativ  The Liberal

The New

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

Democratic ~ Québécols TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female PostSec Univ Grad arty  Party(NDP) (BQ) party Par other party _ ballot ure 1
A 8 ¢ ) E F G H ) K L ] N ) 3 Q R s T U v w X 02 z a b c d e
Base Al answering To1 ) 57 20 8 33 3 3 51 34 28 33 1 2 2 0 T 5 16 4 6 27 2T i i 5 5 21 15 5 27 i
Weighied 56+ 5o o 257 [ 32 o 20 £ 267 257 27 F T T T il 6+ 7 o 2 2% T+ o 7 [l 7 207 T 207 v
3 T [ 5 [ [ 3 7 T 7 2 5 0 o 0 0 T o T O Z 5 0 3 Z 5 3 7 5 5 5 3
The Consenatives 3% 36% 2% 38% 26% 36% 2% 5% 9% 278 1% 7% - - - - 00% e ™% B1% 6% 36% 9% 2% 24% 5% 8% 2% 3% 3% 27% 2%
& o s 3 5 7 o z 7 g o ® o 0 o 0 o 0 T 0 3 s 7 T 3 0 T O 7 2 5 T
The Liberals 9% 20% 5% 2% 7% 3% - % 9% 365 - G6%% - - - - - - % 6% 39% 16% % 3% - 0% 26% 8% 1% 25% 5%
i ™ 5 z 7 7 5 5 7 3 z 0 7 0 0 0 0 0 z T T z S} 7 0 0 T 5 7 T 5 [
The NDP 0% 2% 4% % 2% 2% W% 26% % 1% ™% - 4% - - - - - 1% % % % 8% 2% D - 7% 3% 8% 0% 2% %
z z 0 o z o o 0 z 0 o T o 0 T 0 o 0 o 0 o T o 0 o 0 o 2 o 0 o 0
The Green Party 2% % % - % % - - % - - 5% - - 00% - - - - - &% 2% - % - - 7% - - - 3%
T 0 0 0 0 0 0 0 T 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [
The People's Party of Canada % % 1% % - % - - 2% - - % - 2% - - - - - 3% - - - - 5% &% - - - - %
T o T o 0 o o 0 o 0 o 0 o 0 o 0 o 0 o 0 o 0 o 0 o 0 o 0 o 0 o 0
The Bloc Québécois (BQ) % - 2% 2% - % - - % 2% - - - 8% - - - - 3% % - - 2% - - - - - % - %
s 5 T 5 5 T 7 5 5 7 7 3 3 0 0 0 0 3 7 T 7 z 3 7 7 T 3 T 7 5 7 7
None of them -theyre allthe same 26% 6% 6% 7% % 35% 4% 26% 2% 5% 2% 1% 6% - - - - a7 76% 2% 1% 1% 4% 6% 9% [ 8% % 20% 3% 21% 0%
— % £ % 7T [ = = £ E3 % £ 7T £ T T T T 3 T 7 (0 7 = (5 5 7 O = £ ™ £ =
9 00% 00% 00% 00% 00% 0% 00% T00% 00% 100% 00% T00% 00% 100% 00% - 00% 00% 00% T00% 00% T00% 00% 00% 00% 00% 100% 00% 00% 00% 00% 00%

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH - JIK/LIMINIOIPIQIR - SITIUNIWIXIY - Z/alb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

2. (Housing (e.

affordability, availability)) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc voteiNoneW  Don't
rvatiy TheLiberal Democratic ~Québécois TheGreen  People’s  Orsome  ouldspoil  KnowiNot
TOTAL Female PostSec  UnivGrad e Party Party (NDP)  (8Q) Party Party other party _ballot
A B E G ] P Q Y
Base: Allanswering 233 52 151 71 59 &3 21 54 9% 62 a2 80 38 8 21 3 0 7 24 21 50 57 a2 37 19 7 16 39 27 55 50 36
Weighted 305 25 182 07 128 Tor 6B o3 o1 53 57 54 53 7 S 5 32 25+ 36+ 65 73 55+ a7 23 o 25+ 59+ i 767 69 37
51 3 56 28 38 %5 16 20 £ 18 @ 73 0 0 6 [ 0 3 5 © 2 16 ] 3 9 Z 6 19 [ 2 20 ]
The Liberals 30% 20% 3% 26% 30% 32% 24% 26% 36% 33% % 1% - 10% 16% - - 10% % 7% 34% 2% % 27% 2% 38% 24% 31% 28% 29% 29% 37%
7
E % 2 77 20 ) 7 20 6 9 0 T 3 0 0 7 0 5 £ 3 7 0 1 T G ) 5 71 G 5
The NDP. 19% 21% 18% 26% 16% 15% 18% 2% 29% 10% 6% 25% 9% - - 8% - 13% 34% 18% 13% 21% 3% 7% 2% 24% 1% 27% 8% 16%
a
a5 20 2 6 16 1z 3 7 Z 1z 3 T T T 0 [ 0 7 0 10 B 13 7 5 7 T 5 5 9 i T 3
The Consenatives 5% 7% 1% 6% 1% 6% % 18% 1% 23% 3% 1% 2% 7% - - - 13% - 27% 10% 18% % 1% 19% 20% 21% 10% 24% 1% 15% &%
K
% 5 1 ) g 3 T 8 3 0 2 0 3 0 2 0 0 0 0 e 1 7 7 5 1 T G 7 3 5 7 3
The Green Party 5% 13% % 1% % 7% 16% %% 7% - 5% - 5% - 60% - - - - 30% 1% % % 10% 5% - 25% 1% 7% 7% 3% 5%
) T ) 9 3 z B 7 z T T z 0 [ 0 5 0 5 0 [ 9 T z z 0 T 0 T 0 £l z Z
The People's Party of Canada % % % 9% 2% % %% % 2% 2% 2% 2% - 9% - 100% - 15% - - 1% 1% 3% 3% - 6% - 1% - 12% 3% 5%
T 0 T 0 0 1 0 0 T 0 0 0 0 0 0 0 0 0 1 0 0 0 0 T 1 T 0 T 0 T 0 T
Some other Party L) - 1% - - 1% - - 1% - - - - - - - - - 3% - - - - - % - - - - - - 3%
0 0 0 0 T 0 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
The Bloc Québécois (BQ) 0 - o - - % - - 1% - - - - 1% - - - - - - - - - - 2% - - - - - 1%
T % @5 0 2 9 % 3 3 7 3 0 g T 5 0 0 7 B 5 5 3 8 EE) 3 7 7 3 T s % B
None of them -hey'e all the same 23% 21% 25% 10% 3% 25% 38% 24% 1% 12% 11% 10% 1% 28% 15% - - 54% 79% 13% 8% 32% 3% 24% 25% 29% 6% 2% 28% 1% 2% 2%
c T o
S 305 123 162 102 128 76 68 93 o1 53 52 9 53 7 35 5 0 32 2 36 6 73 55 a7 23 5 % 59 38 76 69 37
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% B 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIX/Y - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Racism/discrimination) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

TOTAL

GENDER

Female

EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's
P,

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

s Univ Grad e Party arty  Party (NDP)  (BQ) a ar other party _ballot sure 1
A 3 c ) E 3 G H 3 K L 0] N o P Q R S T Y v W X Y z a b < d e
Base: All answering 78 31 a7 33 20 %5 2 12 30 34 B 35 12 2 13 0 0 5 5 7 16 T 9 ) 10 3 6 £l 16 27 T i
Weighied 7 25 e e o o 5 T 25 7 5o 25 T T T el > P T3 g e o 7 > o e T o T 5
27 S 14 0 G T 0 5 13 s T % 0 [ T [ 0 T 0 5 5 7 2 5 5 T 2 T 9 5 5 T
The Liberals 3% 7% 3% 2% 8% 56% - 32% 5% 39% 3% 82% - - %% - - 35% 6% 20% % 35% 8% 54% 64% 52% 21% 36% 69% 29% 39% 25%
i G e s 6 7 Z 5 3 5 z T 0 0 3 0 0 0 0 7 2 5 T T 2 T 3 0 3 5 3 T
The NOP 5% 21% 2% 2% 1% 20% 8% 29% 0% 26% 8% % 7% - 20% - - - 5% 2% 2% 51% 13% 7% 25% 8% 30% 9% 19% 19% 51% 2%
™ 5 5 ) 0 2 5 5 T 2 0 0 3 T 8 0 0 0 0 £l T 0 0 T T . 7 . T 5 0 T
The Green Party 7% 7% 7% 27% 2% 10% 52% 27% % 9% - - 21% 64% 61% - - - - 37% % - 9% 1% 1% - 8% % % 2% - 26%
3 2 z 2 0 T 0 0 T 2 2 0 T 0 0 0 0 0 0 0 2 0 0 T 0 0 0 0 T 2 0 0
The Consenvatives 5% &% % 5% % &% - - 5% 1% 25% - 9% - - - - - - - 15% - 11% 13% - - - 12% 8% 7% - -
T T 0 T 0 0 0 T 0 0 0 T 0 0 0 0 0 0 0 T 0 0 0 . 0 . T . 0 . 0 0
The People's Party of Canada 2% % % % - - - % - 2% - % - - - - - - 20% % 3% - - - - - 1% - - 1% - -
g T g O z T 0 T 5 3 T 3 0 0 T 0 0 2 T 3 3 2 T T 0 0 0 T 0 5 T T
None of them -they're all the same 3% 5% 18% 5% 5% 7% - 5% 20% 1% 1% 1% 3% 36% 0% - - 5% 9% 2% 23% 14% 19% 15% - - - 3% - 21% 9% 27%
S i 2% a £ [ 6 9 [ 2 2T 9 % 14 T 0 [ 0 3 2 3 13 T 7 5 7 2 0 T 0 % T 5
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNVIWIX/Y - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

First Nations and

TOTAL

GENDER

Now, on these three issues that are most important to you, which party do you think s the best to deal with them?

EDUCATION

The

rvativ  The Liberal

The New
Democratic

Québec

DECIDED-VOTERS LEANERS

The Bloc

The Green
Party

People's
P,

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

Female PostSec  UnivGrad e Party Party  Party(NDP)  (BQ) a ar other party _ballot ure 5
A B c 5 E 3 G H I 3 K L ] N o P Q R S T Y v W X Y z a b < d e
Base: Allanswering EQ 39 a7 29 29 28 10 10 37 29 9 34 14 0 14 0 0 El 7 7 1z 8 T 14 3 T 0 8 T 9 T 7
Weighied 102 T ol 75 3 2 ol T 257 2T o i T e o e = Ead T3 3 T 23 T o+ i o i 2T 07 3T e 1o
= 0 0 1z 5 0 2 5 2 5 3 7 0 0 Z 0 0 7 0 1 T 0 5 7 7 T 2 Z 7 10 3 7
The Liberals 25% 7% 31% 21% 1% 35% 13% 1% 12% 2% 18% 50% - - 13% - - 39% - 3% 10% - 5% 36% 33% 100% 13% &% 2% 34% 25% 29%
% s i T 7 5 5 2 ) 3 3 2 T o 3 o o o 5 5 5 % 2 3 B T T T 3 3 7 3
The NDP. 3% % 28% 2% 2% 25% 1% 10% 8% 16% 16% % 78% - % - - - 1% 16% 9% 25% 16% 35% 18% - 10% 18% 26% 30% 28% 2%
i 7 2 g 5 2 9 T z 5 7 2 0 0 T [ 0 T 0 7 T 7 T T T ) T 7 T 7 7 T
The Green Party 18% 15% 20% 19% 25% 7% 26% 8% 8% 27% 27% 6% 2% - 0% - - % - 21% 1% 31% 12% 12% % - 10% 10% 12% 23% % %
5 5 T . 5 . 5 o o o 5 o o o o o o o o o o 5 o T O T 0 5 O T O T
The Consenvatives 5% 1% % - 5% - 1% - ™% - 3% - - - - - - - - - - 21% % - - - - 23% - - 3% -
5 7 T 5 T 0 0 3 T T 0 T 3 0 0 [ 0 [ T 2 3 [ 0 ) 0 ) 7 ) 0 T 0 T
The People's Party of Canada 5% 8% 2% 1% - - - 7% 5% % - % 20% - - - - - 5% 6% 27% - - - - - 2% - - % - -
3 3 T H T . 2 o T o o 3 o o o o o o o 2 o o T T O T B T O T O T
The Bloc Québécois (BQ) 3% 6% - 5% 1% - 7% - 2% - - 8% - - - - - - - 7% - - 5% - - - % % - - - -
T 0 T 0 T 0 0 0 0 0 0 0 0 0 0 [ 0 [ 0 [ 0 [ 0 ) 0 ) 0 ) 0 ) 0 T
Some other Party 1% % % % % - - - 1% 2% - 1% - - - - - 5% - - 3% 2% - - - - - 2% - 1% - -
7 T 1 5 7 s [ 2 7 2 T 3 o o o o o 5 7 % o 5 2 2 % T 3 5 B 2 T 5
None of them -they'e all the same 20% 25% 1% 13% 21% 3% 2% 1% 2% 10% % 25% - - - - - 9% 53% 18% - 2% 19% 18% 5% - 25% 28% 1% 8% 1% 3%
S 02 2 E 5 34 2 £ 7 £ 2 6 3 ) 0 6 0 0 5 ) £ T = T 10 4 o 4 21 0 31 e 0]
oma 100% 100% 100% 100% 100% 100% T00% 100% 100% 100% 100% 100% 100% - 100% - - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% isk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIX/Y - Zlalb - clde Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Energy, including pipelines, gas prices) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

EDUCATION

The

rvativ  The Liberal

The New

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

Democratic Québécois  TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female < Univ Grad e Party arty  Party (NDP)  (BQ) Party Par other party _ballot sure 5
A 3 c ) E 3 G H i 3 K L 0] N o P Q R S T Y v W X Y z a b < d e
Base: All answering 213 12 01 39 61 5] 8 39 01 65 9 79 16 14 12 a 5 10 7 13 % 33 28 a1 50 2 17 23 75 %5 38 38
Weighted 233 T o2 [ 2 126" 26 50 86 52 116° 5 16 & 2% el 7 T3 0% o 25+ 35 27 a2 a5 a0 16 25 T00° 27 B 2
38 57 51 27 £ 72 1 0 [ 30 18 0 0 T 0 [ 7 7 5 5 8 2T 8 [ 2 E T [ 50 [ 2 )
The Consenatives 59% 2% 55% 2% 6% 57% 7% 59% 57% 56% 99% 2% - 1% - - 50% 3% 8% 8% 2% 60% 7% 39% 55% 1% 69% 64% 60% 58% 61% 4%
K
E ) 6 2 6 EY 5 3 5 [ 0 ES T T T 0 2 T 2 0 2 7 2 o 5] 3 T z 27 T 2 z
The Liberals 16% 2% % % 9% 2% 8% 1% 1% 2% - 6a% 5% 2% 8% - 2% &% 3% - 8% 1% 7% 23% 26% 2% 7% 17% 2% 3% % 13%
3 c 7
8 il 0 2 5 T 0 5 0 2 0 T 3 T 0 0 2 T 0 T T 2 3 5 5 . T . 5 T 7 5
The Green Party &% 5% 11% 5% &% 9% - 9% 1% % - 2% 1% 15% 83% - 28% % - 5% 5% 6% 0% 1% 1% - &% % &% % 2% %
e 7 g 7 Z 7 0 7 5 3 0 2 0 0 0 0 0 0 0 2 2 T 2 3 0 0 0 2 2 z 2 T
The NOP 5% 3% % 0% % 3% - &% % &% - % 5% % - - - - - 1% 0% % 9% 8% 1% - - 7% 2% 16% 5% 5%
6 0 6 3 3 0 3 2 T 0 0 0 3 0 0 0 0 3 0 3 0 2 T . 0 . 0 . 0 3 3 0
Some other Party 3% - 7% i 5% - 1% % % - - - 6% - - - - 2% - 16% - 6% % - - - - - - 1% 8% -
A 3 £
3 2 2 0 0 3 0 0 3 0 0 0 0 0 0 3 0 0 0 0 0 0 0 2 T 0 0 0 2 0 0 2
The People’s Party of Canada % % 2% - - 2% - - % - - - - - - 100% - - - - - - - 6% 1% - - - 2% - - 5%
2 T T 0 0 2 0 0 T T 0 0 0 2 0 0 0 0 0 0 0 0 0 T 0 . 0 . T . 0 T
The Bloc Québécois (BQ) 1% % 1% - 1% % - - % 1% - - - 5% - - - - - - - 1% - 2% 1% 1% - - 1% - 1% %
© 7 g 5 5 G 0 7 5 3 2 7 2 0 T 0 0 7 3 7 T 5 T z 2 0 3 2 2 2 3 z
None of them -they're all the same 7% 5% 9% 2% 9% % - 1% % i % % 0% &% 8% - - 2% 29% 20% % 13% 2% 8% 5% - 18% 10% 2% 8% 8% 13%
S 233 T4 2 ] 62 128 % 69 6 52 16 s 8 5 2 3 7 [ 0 [ B 3 27 [ 3 0 6 3 100 27 37 %
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% isk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

2. (Drug abuse) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

Detailed Tables

EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
rvaiiv Theliberal Democratic Québécois TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female Univ Grad e Party Party (NDP) party Party otherparty __ballot
A 3 E I P Q v 02
Base: All answering 59 21 38 20 24 15 4 15 20 20 19 15 4 3 2 1 1 5 9 7 13 15 9 7 5 3 6 10 5 14 14 10
Weighied oo 75 e o o T o+ T i o T o e Eal T > o 7 v T To o o S G e 5 e 5 g T &
7 7 14 s 7 5 0 5 6 9 14 T T T 0 [ 0 3 T 3 5 5 T 2 1 2 1 T 2 7 3 3
The Consenatives 3% 26% 2% 26% 1% % - 2% 8% 51% 78% % 20% 25% - - - 2% 7% 2% 25% 3% 0% 8% 2% 4% 1% 3% 5% 3% 28% 39%
) G 5 3 6 2 0 5 Z 2 0 o 0 0 0 0 0 0 T T 2 T 5 0 0 T T z T 2 3 0
The Liberals 7% 2% 2% 0% 6% 2% - 5% 2% 1% - 2% - - - - - - 8% 0% 0% 7% 6% 7% - 3% 2% 3% 2% % 2% %
9 3 5 5 2 2 0 T 3 5 2 0 3 0 T 0 2 T 0 T 7 T T . 2 . 2 T T 3 T T
The NDP 3% 4% 2% 6% % 5% - 5% 16% 25% 2% - 76% - 9% - 100% % - % 21% % &% 0% 29% - 16% % 21% 5% o% 1%
Z 7 0 T z 0 2 0 0 T 0 0 0 0 0 2 0 0 T 0 T 2 0 0 0 0 T 2 0 0 0 0
The People’s Party of Canada, 5% 14% - 5% 9% - 21% - 8% - - - - - 100% - - 10% - 7% 14% - - - - 7% 19% - - - -
2 T 2 0 2 T 2 0 T 0 0 0 0 2 0 0 0 0 0 0 0 0 2 T 0 . 0 . T . 2 0
The Bloc Québécois (BQ) 3% % % - % % 5% - 3% - - - - 75% - - - - - - - - 16% 2% - - - - 1% - 3% -
T T 0 T 0 0 0 T 0 0 0 T 0 0 0 0 0 0 0 0 T 0 0 0 0 0 T 0 0 0 0 0
The Green Party 2% % % % % - - % 2% - 7% - - - - - - - - 4% 2% - - - - 10% - - - 2% -
£ 3 i3 5 z a 6 9 3 T 2 a 0 0 T 0 0 3 T 5 6 7 0 T 3 . 3 T 0 £l 3 T
None of them -theyre allthe same 20% 1a% 9% 0% 6% 28% 4% % To% % 0% 2% - - 51% - - 1% 5% 5% 2% 26% - 2% 9% - 2% % - 4% 26% 5%
- &7 3 2z E) = 2 ) 2 g T & T 7 3 T 2 B 7 [ ) 19 T O 5 G 3 5 T 5 B 7] 5
9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Proportions/Means: Columns Tested (5% risk level) - A - C/DIE - FIGIH - JKILIMINIOIPIQIR - STTIUVIIXIY - Zialb - cldie Overlap formulag used. * small base; * very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (infrastructure (e.g., public transit, bridges, roads)) Now, on these three issues that are most important to you, which party do you think s the best to deal with them?

TOTAL

GENDER

Female

EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

PostSec Univ Grad art Party (NDP)  (8Q) a Party other party _ballot ure
A B c ) E 3 G H ] J K L 0] N o P Q R S T U v W X Y z a b < d e
Base: Allanswering T 68 a3 18 aa 79 5 18 5 73 16 79 15 10 B T 0 5 8 s 0 25 19 % 20 3 T 31 26 7 13 23
Weighted 104 Tor 297 71 37 i T2 29+ e 307 7 53 16+ 5 5 Ea 7 Ed ™ 07 71 5+ 207 o+ Edl 5+ 26 o o E 1o
58 3 ) © 21 30 10 6 18 1 2 a7 @ T T [ 0 2 T 7 2 3 8 3 4 3 7 19 23 Z 3 B
The Liberals 56% 0% 4% 30% 5% 66% 1% 55% 5% a7 0% %0% 26% 8% 21% - - 54% 30% 35% 25% 60% 53% 53% 76% 100% 2% 66% 0% % 31% 54%
i 0 3 7 3 ) 0 8 3 5 ) 0 0 7 1 0 0 0 1 7 1 7 1 s 3 T 7 7 3 T 0 5
The Consenatives 5% 1% 7% 2% 7% 2% - 26% 0% % 69% % 3% 3% 2% - - 1% 20% 14% 9% 7% 8% 3% 15% - 13% 8% 18% 7% 5% 36%
9 5 3 3 T 7 0 [ 5 7 T [ B T 1 [ 0 [ 0 T 3 T 0 3 z T 1 T 7 z 0 T
The NOP %% % %% 6% % 9% - - % 5% &% - 8% 2% 26% - - - - 5% 28% 5% 2% 10% 9% - 8% 5% 2% 36% - %
3 7 7 7 7 0 0 7 3 T T 7 T 0 0 7 0 0 1 7 0 7 7 T 0 T 7 7 0 T 7 T
The People’s Party of Canada % 5% % 1% 10% - - &% 0% 2% ED 3% 8% - - 100% - - 20% 20% - 8% 12% - - - 15% 6% - - 2% -
3 3 T 3 T 0 0 3 0 [ 0 [ 3 [ 0 [ 0 [ 0 [ 3 [ 0 T 0 T 3 T 0 T 0 T
Some other Party 3% % 1% - - - 10% - - - - 18% - - - - - - - 29% - - - - - 19% - - - - -
T 1 0 0 T 0 0 0 0 T 0 0 0 0 1 0 0 0 0 0 0 0 1 T 0 T 0 T 0 T 0 T
The Green Party % 2% - % - - - - % - - - - 21% - - - - - - - 8% - - - - % - - - -
T 0 T 0 T 0 0 [ T [ 0 [ 0 T 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 1 T
The Bloc Québécois (BQ) 1% - % - 2% % - - % - - - - 25% - - - - - - - 2% 3% 2% - - - - - - 9% %
1 3 7 7 3 0 7 T 7 5 7 7 T 0 1 0 0 T 1 3 1 7 7 T 0 T 3 3 0 T 3 T
None of them -they're all the same 0% &% 5% 8% 6% % 9% % 7% 5% 2% i 7% 0% 2% - - 35% 25% 25% 9% 17% 15% 2% - - 19% 10% - 15% 35% 3%
S 104 76 29 21 37 46 ) 29 £ 30 [ 53 16 5 5 2 0 7 3 ey 10 2 15 24 19 3 15 28 32 5 9 ]
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% B 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% isk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIX/Y - Zlalb - clde Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2 Now, on that are most important to you, which party do you think is the best to deal with them?

GENDER EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

TOTAL Female < Univ Grad e Party arty  Party (NDP)  (BQ) a Party other party _ballot ure 5
A 3 c ) E 3 G H 3 K L 0] N o P Q R S T U v w X Y z a b < d e
Base: All answering 239 160 73 27 6 146 1T 35 108 85 115 37 T 23 12 5 3 El %5 7 20 27 39 B 56 32 1T a2 07 16 2% 39
Weighted 242 170 7T 3 52 156 e £ a5 & 45 257 E T o E el E 25 E 25 2 E 51 55 50 16 S 22° 5 % Ex
60 117 [ 2T % 12 2 3 56 37 T2 5 2 5 7 [ T 2 9 5 5 5 7 27 3 [ 0 [ o ) T 7T
The Consenatives 6% 68% 60% 2% 51% 72% 50% 2% 6% 59% 92% 6% 6% 3% % - 9% 2% 0% 52% 7% 2% 57% 54% 8% 84% 59% 8% 75% 64% 55% 61%
) W a
Bl ) 6 5 g 0 2 2 8 [ 2 o T 0 0 0 T 0 0 T z 7 2 5 4 T 5 7 7 0 2 3
The Liberals 10% 1% 5% 5% 7% 7% 5% 3% 9% 20% % 5% 2% % 5% - 0% - 2% % 8% 30% 8% 12% % 2% 31% 20% % - 12% 10%
£ b
0 3 7 2 5 3 0 2 6 2 2 T 6 0 0 0 0 0 0 2 0 2 3 T 2 . 0 T 2 Z 7 Z
The NOP % % 0% &% %% % - % 7% % % 5% 67% - - - - - 2% 6% - % 1% 3% 3% - % 1% 12% 18% %
A E
5 7 T 0 2 3 0 0 Z T T 0 0 0 0 7 0 0 0 0 0 T T 3 0 0 0 T 3 0 T 0
The People’s Party of Canada 2% 2% % - % 2% - - 5% % % - - - - 7% - - - - - % % 5% - - % 2% - 5% -
3 2 T 0 T 3 0 T T T 0 0 0 3 0 0 0 0 0 0 0 0 T T T . 0 . 2 . T 0
The Bloc Québécois (BQ) 1% % 1% - 1% % - 1% % 2% - - - 2% - - - - - - - - 2% 2% 2% 1% - - 2% - 3% 1%
z 2 0 0 T T 0 0 T T 0 0 0 0 2 0 0 0 0 0 0 T 0 0 0 T 0 T T 0 0 0
The Green Party 1% % 0 % % % - - % 2% - - - 3% 2% - - - - - % % - - - 2% - 2% 1% 2% - -
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 . 0 . 0 . 0 . 0 0
Some other Party 0 0 - - 1% - - - - 1% - 1% - - - - - - - - - - 1% - - - 1% - - - -
Ed % [ G g B 2 7 5 7 5 7 0 3 2 T T 5 5 2 3 3 5 ) 3 5 2 7 5 z T 5
None of them -they're all the same 5% 3% 19% 6% 6% 5% 5% 30% 1% 1% % 2% 5% 2% 27% 2% 0% 7% 56% 2% 1% 1% % 24% 10% 1% 10% 21% 13% 2% 7% 23%
S 222 170 i £ 52 156 3 El 5 3 a3 2 9 T 9 5 3 s ] ) ] 2 30 51 5 50 6 E 122 [ 19 El
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% isk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Relations across provinces) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

EDUCATION

The

rvativ  The Liberal

The New

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

Democratic ~ Québécols TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female PosiSec  Univ Grad Party  Party(NOP)  (BQ) Pary Par other party _ballot sure 5 1
A B c ) E 3 G H I 3 K L ] N ) 3 Q R s T [ v w X Y z a b < d e
Base: All answering 61 41 20 6 17 38 4 6 28 23 16 14 4 13 3 1 0 5 5 2 4 7 10 9 22 7 5 11 25 1 6 13
Weighted = B oo & 15 E o - 1o T 1o = & & o o - > r > o = = 1o i = & P o r >
zu [ 7 0 5 0 5 T 5 3 7 o Z o 0 0 0 T 0 o 0 0 Z T 7 5 0 3 ] 0 3 T
The Consenatives 9% 0% 6% - 4% % 6% 0% 5% 2% %4% - 1% - 5% - - 2% - - - 0% 0% e S9% 5% - % 46% - 65% 2%
5 = z 3 T Y z 5 3 5 o O 7 T o 0 o 0 T 3 o 0 T 3 3 7 3 0 o 0 T T
The Liberals 29% 3% 5% 515 0% 3% 7% Ga5, 6% 2% - £ 5% 2% - - - 5% 0% 6% - - 20% 0% To% 3% 56% 7% 5% - 2% 1%
5 7 T T T 3 0 0 T 7 0 0 0 7 T 0 0 0 0 0 T 0 T T T 0 T T z 0 0 T
The Bloc Québécois (BQ) 0% 0% % 7% 1% % - - % 20% - - - 3% 5% - - 1a% - - 2% &% T6% 2% 7% % 8% 20% &% - - 5%
z z 0 o T o o T T 0 o T o T o 0 o 0 o 0 o T o 0 o 0 o T o 0 o 0
The NDP % % % 7% 1% % - 2% % % - 5% - 5% - - - 5% - - 7% 6% % - % - % 9% - - - 5%
T T 0 T 0 0 0 0 T 0 0 T 0 0 0 0 0 0 0 T 0 0 0 0 0 0 T 0 0 0 0 [
The People's Party of Canada 2% 2% - 6% - - - - % - - 7% - - - - - - 2% - - - - - - 8% - - - - -
T T 0 o 0 T o 0 T 0 o 0 o 0 o 0 o 0 T 0 o 0 o 0 T 0 o 0 T 0 o 0
Some other Party. % 2% - - - 2% - - % - - - - - - - - 22% - - - - - % - - - 2% - - -
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [
The Green Party 1% - % &% - - - - 3% - - % - - - - - - - 25% - - - - - - - - T00% - -
s 3 7 o T G z T 3 z T 3 o 0 o T o T T 0 o 0 T 0 5 T o 0 3 0 T 3
None of them hey're all the same 15% 9% 35% - 13% 18% 14% 13% 17% 13% 6% 26% - - - 100% 33% 38% - - 9% 17% 5% 30% 6% - 8% 11% - 21% 45%
S 5 3 B O 0 &3 = 7 [ 0 [ (5 5 O T T 0 3 3 3 Z 5 5 5 T 5 5 5 = 0 0 7
'oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% isk level) - AIB - CIDIE - FIGIHI| - JIKILIMINIOIPIQIR - SITIUN/WIX/Y - Zfalb - cide Overlap formulae used. * small base; ** very small base (under 30) ineligible for si

ig testing

(tab) of (tables)



FED VOTE

Stab

2. (Relations with other countriesftrade) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

TOTAL

GENDER

Female

EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's
P,

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

s Univ Grad e Party arty  Party(NDP) (BQ) a ar other party _ ballot ure 5
A 8 ¢ ) E F G H i 3 3 L ] N ) 3 Q R s T [ v w X 02 z a b c d e
Base Al answering B 61 5 %5 29 60 3 7 [ 8 35 2 7 i) 2 0 T 5 5 2 i i) 15 21 3T 5 1 iz 37 5 17 %
Weighied 00" Ed 3 307 21+ 5 o+ 77 77 £ 37 o [l & il 7 o il o 2 v 1T+ T 257 7 o o+ i T+ o 5+
% % T [ ) 2 0 0 7 % 0 % 7 z 0 0 0 T T 5 5 0 7 7 0 T 5 5 T 5 5 5
The Liberals 8% 515 % 9% 2% 5% 6% 5% 26% 575 2% o2 6% 0% T5% - - e 6% 2% S0% 8% 65% 0% 6% 1% 61% 8% % 39% 6% 0%
i
ES z = 5 7 E) T s @ = % 0 o T T 0 z z o 3 7 3 3 s 5 5 5 3 @ 3 7 5
The Consenatives 5% 7% 31% %% 2% 2% % 0% 50% 3% 0% % 7% 2% 2% - 00% 2a% - 9% 3% 2% 3% 5% 33% 4% 34% 2% % 8% 5% 2%
7 z 2 z T T 0 z z 0 T 0 0 0 T 0 0 z 0 z 0 T 0 0 0 T 0 T T z 0 [
The People's Party of Canada W% % 5% ™% 2% % - % ™% - 2% - - - 1% - - 2a% - 2% - 5% - - - 8% - 5% % 1% - -
z o z T T o o 0 T T z 0 o 0 o 0 o 0 o 0 T T o 0 o 0 o 0 o T T 0
The Green Party 2% - % % % % - - % % % - - - 2% - - - - - % 1% - - % - - - - % 0% 3%
T 0 T 0 0 T 0 0 T 0 0 0 T 0 0 0 0 0 0 0 0 0 0 T 0 0 0 0 0 0 0 T
The NDP % % 2% - - % - - % - - - 2% - - - - - - - - - - % 2% - - - % - - %
T T 0 o 0 T o 0 o T o 0 o T o 0 o 0 o 0 o 0 o T o 0 o 0 T 0 o 0
The Bloc Québécois (BQ) % 2% - - - 3% - - 2% 3% - - - 5% - - - - 8% - - - - 5% 7% - - - % - - -
[ 3 5 5 2 z 0 5 T z 0 z T T 0 0 0 7 T 7 T T 0 T T 0 T z T 7 0 T
None of them -theyre allthe same 8% &% 1% 5% % % - 6% % &% % 5% 0% 2% - - - 9% 26% 20% % 1% % % &% - % 0% 2% 25% - %
— 00 % = % B ™ S 7T E % £ o G S 3 T z 5 3 ™ = ™ Ee T = 7 ™ ™ = 5 = (5
9 100% 00% 00% 00% 00% 0% 00% T00% 00% 100% 00% 100% 00% 100% 00% - 00% T00% 00% T00% 00% T00% 00% 00% 00% 00% 100% 00% 00% 00% 00% 00%
Proporions/Means: Columns Tested (5% risk level) - A - C/DIE - FIGIHI - JKILIMINIOIPIQIR - STTIUVIIXIY - Zialb - cidie Overlap formulag used. * small base; * very small base (under 30) ineligble for sig testing

(tab) of (tables)



FED VOTE
Stab

2. (New technology) Now, on th

most important to you,

[ you think is the best to deal with them?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
rvatiy TheLiberal Democratic ~Québécois TheGreen  People’s  Orsome  ouldspoil  KnowiNot
TOTAL Female Univ Grad e Party Party Party (NDP) party P other party _ballot
A 3 E i P Q v 2 <

Base: All answering I3 3 3 7 20 9 3 15 9 8 14 7 3 5 0 3 2 3 ) 5 [ 8 5 3 T 9 7 7 s 3 2
Weighied e T ST T 2o o = T T o 5o T3 7 Eal Gl e el 7 == T T 7 e r o v o T 7 r o

7 0 3 5 5 3 2 T 7 7 T T 0 2 0 [ 3 [ 0 [ 6 5 2 T 1 T 5 7 3 T 1 o
The Liberals 6% 0% 2% 4% 8% 4% 9% % 53% a5% 2% 81% - 7% &% - 67% - - - 5% 2% 25% 25% 25% 00% % 0% 34% 8% 29% 32%

) s 3 5 Z 2 2 7 0 2 0 T 5 0 3 0 0 2 0 3 2 7 0 0 2 0 2 z 2 3 0 0
The Green Party 2% 2% 20% 26% 20% 26% 29% 5a% - 5% - 1% 6% - 53% - - 3% - 2% 1% 2775 5% - 51% - 6% 2a% 2% 0% - -

9 5 z 5 z 0 2 a 0 3 5 T 0 0 0 0 0 0 0 0 5 T 3 . 0 . 3 Z 0 Z 2 0
The Consenatives 8% 4% 1% 2% 20% - 2% 2% - 20% 80% % - - - - - - - - 3% % 3% - - - 23% 5% - 7% 6% -

Z 3 T T z T 0 0 3 T 0 0 3 0 T 0 0 0 0 0 T 2 0 T 0 0 0 2 T T 0 0
The NOP % % 5% % 9% 3% - - 2% &% - - 34% - 21% - - - - - 5% 1% 5% 2% - - - 1% 6% % - -

T T 0 T 0 0 0 0 T 0 0 0 0 0 0 0 T 0 0 T 0 0 0 . 0 . T . 0 . 0 0
Some other Party 3% % - 7% - - - - 10% - - - - - - - 3% - - 2% - - - - - - 2% - - - - -

T T 0 0 0 T 0 0 T 0 0 0 0 T 0 0 0 0 0 0 0 0 0 T 0 0 0 0 T 0 0 0
The Bloc Québécois (BQ) 2% 3% - - 2% % - - 8% - - - - 3% - - - - - - - % - 5% - - - % 7% - - -

5 3 2 T 2 2 0 2 T 2 T 0 0 0 T 0 0 T 2 0 0 T T T T . 0 T T . T T
None of them hey e allthe same 0% % % % 0% 20% - 2% &% 2% %% - - - 9% - - 3% 100% % 2% 5% 71% 29% 6% - % % 1% 5% 25% 8%
- % 3 Z ) £ S 5 ) 5 T S [ 7 3 G 0 7 3 B 5 [ ) 7 7 7 T 7] [ s 7 7 T

9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - A8 - CIDIE - FIGIH - JK/LIMINIOIPIQIR - SITIUNIWIXIY - Zialb - clde Overlap formulae used. * small base; **very small base (under 30) ineligble for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Women's issues) Now, on

most important to you,

TOTAL

GENDER

you think is the best to deal with them?

EDUCATION

The

rvativ  The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

s Univ Grad e Party art Party (NDP)  (8Q) Party other party _ballot ure 1
A B c [ E 3 G H ] 3 K L 0] N o P Q R S T Y v W X Y z a b < d e
Base: Allanswering 7 14 57 38 % 7 2 14 %5 30 8 21 17 2 8 T 0 © 11 12 % 7 9 a 3 o 6 5 3 32 21 @
Weighted o T 55 ya 2o & T P T P 7 o T o i P 7 5 o P T & P 7 7 = 7 T o Fa
21 3 19 3 G 2 0 9 G © 2 2 T 0 3 [ 0 2 T 2 T 7 2 T 1 o 0 T 1 3 5 T
The Liberals 3% 8% 3% 30% 30% 0% - 39% 5% 2% 23% 69% 5% 50% 3% - - 2% 1% 13% % 26% 39% 8% 32% - 6% 27% 5% 34% 31% 6%
8 5 5] ) 7 0 8 5 7 3 0 0 5 0 0 7 0 0 1 3 g 5 7 T 0 T 3 7 0 s 5 T
The NOP 2% 3% 20% 25% 36% - 100% 22% 4% 16% - 85% - % 100% - % % 17% 3% 0% 25% - - - % 50% - 2% 31% -
5 T T 3 T T 0 [ 7 z 7 [ T [ 0 [ 0 [ 0 z 1 T 0 T 0 T 1 T 0 z 1 T
The Consenatives % 10% % % 5% 9% - - 21% i 60% - % - - - - - - 12% % 8% - 36% - - 20% - - 5% % 38%
3 1 7 1 7 0 0 0 7 T T T 0 0 1 0 0 0 0 T 0 T 1 T 0 T 0 T 0 T 1 T
The People’s Party of Canada 5% % % 3% 1% - - - 12% 5% 16% 7% - - 1% - - - - 6% - 8% 18% - - - - 2% - 3% 7% -
3 T T T T T 0 [ 0 3 0 [ 0 [ z [ 0 [ 0 T 1 [ 0 T 1 T 0 T 1 T 0 T
The Green Party % 8% 3% 3% - 2% - - - 12% 2% - - 28% - - - - % 3% - - - 50% - - - 8% % - -
T 1 0 1 0 0 0 0 0 T 0 T 0 0 0 0 0 0 0 T 0 0 0 T 0 T 1 T 0 T 0 T
Some other Party 2% 0% - 3% - - - - - 7% 8% - - - - - - - 8% - - - - - - 20% - - - - -
T 0 T 0 T 0 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 T 0 T 0 T 0 T 0 T
The Bloc Québécois (BQ) % % - - - 9% - - - 2% - - 50% - - - - - - - - - - 18% - - - % - - -
7 1 i 3 7 0 0 8 3 5 0 7 0 0 1 0 0 5 7 7 5 7 1 T 0 T 1 T 0 ) 7 T
None of them -they're all the same 20% i 2% 26% 1% % - 39% 18% 2% 1% 3% - 1% - - 7% 83% 0% 20% 18% % 15% - - 13% - - 31% 23% 16%
S 69 5 55 3 20 5 8 2 18 2 7 8 18 T s 2 0 7 9 18 27 1 6 2 2 ] 7 5 2 37 15 2
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% B 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100%
ProportionsiMeans: Columns Tested (5% isk level) - A/B - CIDJE - FIG/H - JIK/LIMINIOIPIQIR - SITIUVIWIX/Y - Ziafb - cidle Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

Now, on

GENDER

that are most important to you, which party do you think is the best to deal with them?

EDUCATION

The

rvativ  The Liberal

The New

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

Democratic ~ Québécols TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female Univ Grad e Party Party  Party(NDP)  (BQ) Party Party other party _ballot ure 5 1
A ] c ) E 3 G H ] 3 K L ] N o P Q R S T Y v W X Y z a b © d e
Base: Allanswering 271 09 162 7 a1 213 13 55 138 65 61 103 23 20 23 2 1 8 30 7 0 16 % 8 116 29 7 7 98 13 34 115
Weighted 264 1267 136 22 34 208 39 75+ 101 a5 61 10" 20 5 21 Ea ™ 5 25+ o 07 7 7 59° 103 26 E 5 13 3 25 5ar
54 a7 a7 5 14 T 21 21 28 24 T 87 0 0 2 [ 0 T 2 5 7 8 6 16 40 16 7 Z i 5 12 30
The Liberals 6% 7% 5% 0% 2% 34% 54% 26% 28% 9% % 79% - % 1% - - 28% 6% 39% 0% 1% 36% 26% 39% 35% 2% 36% 3% 38% 3% 32%
GH 3
59 30 % 0 g ] 7 7 % 7 @ 5 0 T 0 0 0 T 3 0 0 7 5 0 E 8 0 7 %8 T 7 71
The Consenatives 2% 2% 21% 2% 27% 2% 1% 28% 2% 15% 75% % 2% 1% - - - 23% 20% - 5% 23% 3% 17% 21% 39% - a1% 25% % 2% 2%
K
Ed 3 7 7 G 28 5 0 6 7 7 5 20 [ z T 0 0 7 z z 3 3 1z 9 7 z T 19 z B El
The NOP 1% 16% 13% 7% 18% 13% 13% 13% 16% 15% 6% 5% 82% % 1% 5% - 8% 15% 7% 18% 19% % 20% 9% 16% % - % 18% 21% %
71 14 7 7 0 7 T 7 8 7 T 7 7 0 ) 0 1 0 0 3 1 0 0 7 T 7 3 T T T 0 5
The Green Party 5% 1% 5% 19% - 8% 3% 10% % %% 1% 3% % - 64% - 100% - - 2% 12% - - 5% 11% % 32% - 10% 10% - &%
5 T T 0 T 5 0 T 3 T 0 [ 0 5 0 [ 0 [ 0 [ 0 [ 0 T 7 T 0 T 1 T 0 T
The Bloc Québécois (BQ) 2% % % - 1% % - 2% 3% 2% % - - 54% - - - - - - - 2% - 2% % - - - 1% - 1% %
3 1 T 1 T 0 0 0 7 0 T 0 0 0 0 T 0 0 0 T 0 0 1 T 0 T 0 T 0 T 0 T
The People’s Party of Canada % 1% 1% 5% % 0 - - 2% 1% 2% - 1% - - 5% - - - 10% - - T - 0 - - 24% - 9% - o
T 0 T 0 T 0 0 [ T [ T [ 0 [ 0 [ 0 [ 0 0 0 T 0 T 0 T 0 T 0 T 1 T
Some other Party 1% - 1% - 3% 0 - - 1% - 2% - - - 2% - - - - - - 6% - 1% - - - - - - % o
2 3 % 7 7 E3 5 T 7 5 7 9 7 3 3 0 0 7 7 T 7 0 7 6 7 3 1 T Z 3 7 %
None of them -they're all the same 16% 10% 21% 1% % 1% 13% 19% 1% 10% 12% 8% % 27% 12% - - 0% 59% 10% 25% 2% 9% 28% 16% 7% 9% - 10% 2% 7% 26%
A
S 264 128 136 2 34 208 39 75 01 9 61 110 24 9 21 2 T 5 2 12 10 7 [ 59 103 % 9 5 113 3 2 54
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% isk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Defence, the Armed Forces) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

EDUCATION

The

The New

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

rvativ Theliberal Democratic Québécois TheGreen  Peoples  Orsome  ouldspoil  Know/Not
TOTAL Female s Univ Grad e Parly Party  Party (NDP) (BQ) party Party _other party | ballot ure 3
A B c D E 3 G H | 3 K L 0 N ) P Q R s T U v w X 02 z a b < d e
Base: Al answerng % 17 i) [ 6 7 0 7 5 a 10 3 z T 1 0 0 2 5 7 % 3 3 7 z T ) T 3 3 5 T
Weighted 2 7 T o = & T T 5 T 7 & o T = = 7 r o 5 7 o e o o e o 3 o 3 5
5 [ 2 S T T 0 5 5 o o o 0 o 0 o 0 o T 7 5 T T T 0 o 5 o 0 o T T
The Consenatives 3% 59% 1% 0% 0% 2% - 2% 52% 1% 86% - % - - - - - 34% a6% 5% 3% 6% 25% - 100% 7% 100% 1% 30% 3%
7 3 7 7 T G o 5 o B o G % G o G o T o 3 7 G o T G T 3 T G 7 G T
The NOP 25% 20% 3% 3% - - - 2% - 5% - - 2% - - - - 6% - 31% 6% - - - - - 5% - - 5% - -
z z T T T z o G z G o z o G o G o G o T o G o z o T T T T T o T
The Liberals % 1% % % - 35% - - 21% - - 100% - 100% - - - - - &% - - - 3% 20% - % - 5% - - 25%
T T T T T G o G T G T G o G o T o T o T o G o T G T T T G T G T
The People's Party of Canada 2% % - % - - - - 5% - 5% - - - - - - - - &% - - - - - - % - - - - -
5 T 5 T z z o z 3 T T G o G T G o T z T o T T T T T o T T T z T
None of them -theyre allthe same 21% 7% 3% &% 50% 3% - 6% 23% 32% 0% - - - To0% - - 2% 66% 2% - 66% 5% 2% 76% - - - 3% 25% 0% 2%
I £ [ T ) 7 S O [ 5 3 5 B S T T T O B 7 ™ 5 B B 7 B T ™ T 3 g 3 3
o 0% 0% 0% T00% 0% 0% - 0% T00% 0% T00% 0% T00% 0% 0% - - 0% T00% 00% 0% 0% T00% 0% T00% 0% T00% 0% T00% 0% T00% 0%

Proportions/Means: Columns Tested (5% risk level) - AJB - C/DIE - FIG/HI - JK/LIMINIOIPIQIR - STTIUN/WIXIY - Zia/b - c/fe Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Gun control) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

GENDER

EDUCATION

The

rvativ  The Liberal

The New

DECIDED-VOTERS LEANERS

The Bloc

Would not
vote/NoneW

[

FEMALE

Detailed Tables

Democratic ~ Québécois  TheGreen  Peoples  Orsome ouldspoil  KnowlNot
TOTAL Female s Uniy Grad party  Party(NOP) __(8Q) party par other party _ballot ure 1
A © C o E F o W ] 1] K L ] N ) 3 Q R s i U v W X Y z a b < ] e
Base: All answering 88 33 55 35 25 28 3 20 40 25 22 24 16 5 6 [ 0 6 9 17 18 20 5 11 12 5 8 11 14 27 14 14
Weighted o2 B o I 7 3 7 37 £ 70 25+ 75 To 7 7 B o 77 71 70 B o 2 7 o o e 32 e i
Eg ™ T [ 5 7 z ™ S 5 3 ™ 3 0 T 0 0 T 3 E 5 5 T 3 7 T 5 z 3 7 7 T
The Liberals 29% 31% %% 3% 2% 2% 2% 30% 2% 2% 0% 6% 3% - To% - - 5% 7% 1% 25% 21% 9% 2% BT 5% 9% 5% 2% 2% BT 5%
= Y & 7 5 % 5 0 ) 7 = T T T 0 G 0 T 0 T 5 3 z 5 3 5 3 3 5 5 z 5
The Consenvatives 755 2% 755 T5% 7% 2% 6% 7% 2% 7% 5% % - £ - - - 2% - 5% 2% To% 58% oa% 25% &9% 7% 2% £ 15% 6% 2%
7 5 5} 5 ] 3 T 7 ) z T z ] T T T o T o T 7 5 o T z T T 3 z 5 7 T
The NOP 6% T5% 7% 2% 3% 1% - 2% 29% % - % 9% - 29% - - - - % 7% 0% - - 20% 5% - £ 7% % B %
5 G 7 7 T G T T z z T G T G z G 0 G T G 7 G 0 T O T O T O 7 O T
 The Green Party 5% 1% % 9% 1% - - 3% 5% 8% - - 7% - 47% - - - 14% 2% 19% - 10% - - - - 4% - 13% - -
T T T T T T T T T T T T T T o T o T o T o T o T T T T T T T T T
Some other Pary 1% % 5% - 5% % - % - 2% 7% - % - - - - - - - - - % % - - - % - - - %
T G T G T G T G T G T G T G 0 G 0 G 0 G 0 G 0 T O T O T O T O T
| The Bloc Québécois (BQ) o 1% - - - 1% - - - 2% - - - 18% - - - - - - - - - 3% - - - - 3% - - -
T T T T T T T T T T T T T T o T o T o T o T o T T T T T T T T T
The People's Pary of Canada 0 - 1% % - - - - - 2% - - - 5% - - - - - - 2% - - - - - - - - % - -
£ 7 5 w 3 3 T 5 5 z T 7 T G 0 G 0 0 5 5 T 3 0 T z T 7 T z i) 3 T
None of them -they're all the same 20% 17% 21% 29% 14% 9% - 35% 13% 9% - 25% 6% 17% 8% - - 2% 50% 48% 4% 16% - 3% 20% - 24% 5% 18% 32% 20% 2%
S Toz £ & W = 3T 7 37 3 ) = ) ] Z 7 0 0 5 B 7 B ) 3 = B 7 T o f5 = f5 [
'oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% isk level) - AIB - CIDIE - FIGIHI| - JIKILIMINIOIPIQIR - SITIUN/WIX/Y - Zfalb - cide Overlap formulae used. * small base; ** very small base (under 30) ineligible for si

ig testing

(tab) of (tables)



FED VOTE
Stab

2. (Abortion) Now, on these three issues that are most important to you, which party do you think s the best to deal with them?.

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  The Bloc votelNone  Don't
rvaiiv Theliberal Democratic Québécois TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female PosiSec  UnivGrad e Parly Party  Party (NDP) (BQ) party Party otherparty __ballot
A O E i 3 Q v Y

Base Al answering [ ) El 21 g 14 z 0 20 7 13 £l 5 a 6 T 0 7 2 T 10 7 7 7 4 3 3 4 5 i 7 o
Weighted - o = pod e o o = o = o o r - e o v > e o o e o 7 - e e r g ra &

) z 5 5 T 5 0 3 3 5 0 o T o 0 0 0 T 0 T 0 T 0 3 T T 0 0 Z 5 T 3
The Consenatives 25% 6% 26% 2a% % 8% - 2a% 2% Sa% 5% - 26% - - - - 1% - 0% W% 1% 5% 2% 2% - - 6% 2% 2% 9%

E 3 s G 7 T o 7 5 z o 7 T 0 T 0 o T o z 3 T 3 T o 0 o 2 o O T T
The Liberals 2a% 5% 2a% %% 2o% 3% - 3% 4% 2% - 76% 4% - 50% - - ™% - 7% 3% 1% T6% 20% - 5% - 59% 1% 3% 6% 5%

3 T 2 z 0 T z 0 T 0 0 0 T 0 0 T 0 z 0 z 0 0 0 T 0 0 T 0 0 z 0 T
The People's Party of Canada ™% 5% % 0% - % 7% - 1% - - - To% - - 0% - 1a% - % - - - 1% - - 8% - - % - 1%

3 z T T T o o z o 0 o 0 o z o 0 o 0 o 0 T T o 0 o 0 o T o T o 0
The Bloc Québécois (BQ) % 5% % &% 7% 5% - 1% ED 5% - - - B5% 16% - - - - - 1% % - - 5% - 2% 21% 2% 5% - -

2 z 0 z 0 0 z 0 0 0 0 z 0 0 0 0 0 0 0 z 0 0 0 0 0 0 z 0 0 0 0 [
The Green Party 5% 20% - 1% - - 25% - - - - 2% - - - - - - - 6% - - - - - - 0% - - - - -

T o T T 0 o o 0 T 0 o 0 T 0 o 0 o 0 o T o 0 o 0 o 0 o 0 o T o 0
The NOP 2% - % % - - - - 7% - - - 2a% - - - - - - 7% - - - - - - - - - 5% - -

7 z 7 7 7 3 5 7 3 z 3 0 0 0 T 0 0 5 z 7 0 5 T 0 T T 0 T T 7 5 T
None of them -theyre allthe same 3% 6% 6% 20% 6% 5% 9% 0% 21% To% 25% - - 5% 4% - - Go%% 00% 3% A 69% 24% % 1% 4% - 2% 1% 2% 3% 2%
— = Ey = = 5 [ g 5 (0 O = ™ 7 3 3 T O = z T g 5 7 5 3 3 3 7 7 ™ 5 O

9 00% 100% 00% 0% 00% 00% 00% T00% 00% 100% 00% T00% 00% 100% 00% T00% - T00% 00% T00% 00% 00% 00% 00% 00% 00% 00% 00% 00% 00% 00% 00%

Proportions/Means: Columns Tested (5% risk level) - A - C/DIE - FIGIH - JKILIMINIOIPIQIR - STTIUVIIXIY - Zialb - cldie Overlap formulag used. * small base; * very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

2. (Affordability and cost of living) Now, on these three issues that are most important to you, which party do you think is the best to deal with them?

TOTAL

GENDER

Female

EDUCATION

Univ Grad

The

rvativ  The Liberal

e Party

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc
Québécois

The Green
Party

People's

or some

Would not
vote/NoneW
ould spoil

[
Know/Not

FEMALE

Detailed Tables

Party  Party(NDP)  (BQ) a Party other party _ballot ure 5
A 3 c D E 3 3 H I 3 K L 0] N o P Q R S T U v w X Y z a b < d e
Base: All answering 522 205 317 29 238 155 %5 12 232 153 30 158 69 21 a1 5 7 29 62 EQ 53 35 03 78 63 i) 2% 01 80 05 37 75
Weighted ) 22 336 156 238 162 79 o6 189 22 T50° 152 69 T3 a7 & 0% a 707 B T02° a5 50 72 65 2 25+ 1007 = 1297 T38* 5
38 66 7 £ W 3 8 37 [ 32 7 5 2 [ 7 [ 0 7 2 5 30 27 & [ 2t 5 7 % £ £ 2 [
The Consenatives 20% 30% 20% 2% 2% 26% 23% 2% 20% 26% 78% % 2% - &% - - 0% 2% 1% 20% 18% 25% 2% 32% 38% 24% 26% 5% 24% % 19%
5 KR
27 &5 3 % El s 0 E a9 ES 6 107 3 T 5 0 0 T z 3 19 ES 21 i3 15 i 8 ) 27 £ % i
The Liberals 2% 29% 19% 8% 2% 2% 1% 2% 26% 5% % 70% 5% % 0% - - % % 1% 8% 2% 23% 21% 29% 6% 28% 29% 29% 15% 18% 25%
3 IR
£ % 7 2 a7 2 g % 37 %2 T [ 50 2 8 0 7 T T T 2 37 T T 9 . 3 © 8 2 3T 2
The NOP 8% 2% 2% 20% 20% 2% 20% 5% 20% 8% 7% % 73% 8% 6% - 8% % 5% 20% 21% 25% 1% 15% 13% - 10% 16% 8% 23% 2% 18%
A KR v
B s 21 ) g s 5 3 7 3 T 2 T 0 19 0 0 T 6 o 2 5 z 5 2 0 0 3 3 ) 3 2
The Green Party 5% % % % % 5% 2% 5% % 3% % % % - 0% - - % 8% 9% 2% % 5% 7% 3% - - 3% % 10% 5% 3%
K
™ 7 5 T 3 3 2 3 3 3 2 0 0 0 3 7 0 0 2 0 T T 2 7 0 . 0 Z 5 T T 3
The Peaple’s Party of Canada 2% % 2% % 1% 5% 2% 2% 2% % 2% - 0 % % 1% % - 3% - % 1% 2% % 0 2% - 2% 5% 1% 1% %
U
g 7 Z 2 3 3 2 3 3 T 0 0 0 7 0 0 0 0 0 T T 2 0 3 0 0 2 0 2 . 2 2
The Bloc Québécois (BQ) 1% 2% 1% 1% 1% 2% 2% 2% 2% 1% - 0 1% 53% - - - % - 2% % 2% 0 % - - 5% [ % [ 2% 2%
T 0 T 0 0 T 0 T 0 0 0 0 0 T 0 0 0 0 0 0 0 0 0 T 0 . 0 . 0 . 0 T
Some other Party 0 - 0 - - 0 - 0 - - - - - 5% - - - - - - - - - 1% - - - - - - - 1%
o) a7 03 s 7z E 2 5 a El 7 % 5 2 [y 2 6 ES W T B 3 Ed IS £ 3 5 Bl 5 B s i
None of them -they're all the same 7% 2% 3% 28% 30% 20% 27% 3% 23% 25% 9% % 18% 2% 21% 39% 5% 80% 5% 2% 2% 29% 3% 20% 2% 1% 32% 24% 1% 28% 35% 28%
A KT
S 556 722 336 156 238 62 i 168 169 22 50 152 5 [ a7 5 0 i 7 55 102 a8 % i 3 2 » 100 (] 2 136 9
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

3a. You've indicated that healthcare is a top issue for you. What, specifically, are you most concerned about?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
Conservativ TheLiberal Democratic ~Québécois TheGreen  People’s  Orsome  ouldspoil  KnowiNot
TOTAL Female Univ Grad e Party Party Party (NDP) P Party other party _ballot
A 3 c E G P [ Y W a

Base: Heallhcare s a top 3 i5sue 739 212 a7 145 296 298 33 T64 321 221 148 %62 EQ 37 51 3 2 38 112 a2 103 149 a7 139 122 37 29 103 140 116 93 58
Weighted 726 296 430 157 271 295 E 233 236 161 7 246 100° 21 52 el el w5 T10° B T02° 26 145 1407 115 a5 E 1007 165 128 i 135

136 56 81 23 a9 65 14 a 50 32 20 55 20 2 16 1 0 4 8 7 15 2 2 2 2 8 2 19 35 2 30 30
Senices covered thiough universal healthcare

19% 9% 19% 4% 18% 2% 5% 8% 2% 20% 1% 2% 20% % 31% 1% - 0% 8% 1% 5% 9% 7% 2% 2% 8% &% 19% 21% 1% 8% 2%

" IR R

116 a7 59 2 50 £ 7 £ EQ % 19 % 10 a 5 0 2 £l 2 5 6 % 27 © 3 Z ™ 7 5 7T El s

Access to doctors 16% 6% 16% 20% 19% 1% 16% 6% 5% 5% 3% 8% 1% 8% 1% - 80% 1% 20% 26% 16% 19% 19% 12% 1% % 33% 7% 1% 7% 19% 1%
3 E

00 3 57 7 Ed 52 7 3 = ) Bl o Bl 3 5 0 0 7 14 2 5 7 14 B E ) 0 ) B 7 15 B

Wait times in hospitals 1% 5% 3% 1% 1% 8% 5% % 1% % 16% % 20% 1% 2% - - % 1% 5% 1% 13% 9% 15% 18% 25% 1% 1% 19% 13% 11% 15%
T K K ©

o 3T 50 5 EQ 37 7 £ % ) 30 2 5 5 3 0 0 i 2 5 7 i) 3 i) 9 5 3 7 3 5 % 7T

Wait imes to see doctors 1% 10% 1% 2% 1% 2% 5% 1% 1% 2% 20% % 5% 25% 5% - - 8% 19% % 1% 15% 1% 1% 8% 19% 10% 12% 10% 12% 1% 16%
KLV KLV KL

S El a9 B El 2 5 ES % 6 1% % o T 8 T 0 2 7 T 7 [ 21 ) 5 3 5 i) T ) E i
Quality of care 1% 1% 1% 1% 3% 0% 0% 1% 0% 0% 1% 1% 10% &% 5% 9% - 5% 16% 2% 7% 10% 15% 8% 13% 6% 2% 1% 7% 9% 11% 1%

(3 [ 3T 3 £ [ T T 9 i) T [ z T T 0 0 T 7 T 6 i 7 i 7 . 0 3 ™ 5 7 5
Access to specialists &% 5% % 5% % &% 2% 5% % % 7% 5% % % 2% - - 2% 3% 2% 6% % 8% % 3% 1% - 3% % 6% 10% 5%

Gl

2 EY ) 5 ) 77 0 s 2 7 5 2T Z T 5 T 0 T 3 2 3 3 7 o ) 5 2 8 o 3 3 5

Phamacare % 10% 3% 3% % % - % 9% i % % % % 0% 0% - 2% 3% % 3% 2% 5% 7% 9% 13% 5% 8% 13% 3% 2% %
3 el G U

Ed [ 2 9 ™ [ T [ g [ 3 7 3 2 T 0 0 7 7 7 5 3 9 5 8 T 2 5 8 7 5 gl

Long-tem care 5% 5% 5% &% % 6% % W% 7% &% 2% 7% 6% 10% % - - 8% % 6% 5% 2% 6% % 7% % 5% 5% 5% 6% % %
7

34 g 27 14 3 7 9 7 0 g 3 0 7 2 0 0 0 0 5 5 9 8 5 5 7 T 7 3 7 ) 0 5

Some other issue 5% % % % 5% % 0% % % 5% 2% % % i % - - % 1% 8% 9% 6% 3% % 2% - 7% % 1% 9% 6% %
E TN X

£ 5 T 5 0 g 0 7 5 i [y [ T 0 0 0 0 2 T 0 5 5 5 T T 2 0 7 5 5 7 2
Infrastructure in hospitals and clinics % % % 3% % 3% - 3% 3% 5% % % % 2% - - - 3% % - 5% % % % 1% 5% B % 3% % 2% 2%

8 5 2 7 G 5 3 O 7 5 3 g 7 0 0 0 1 0 1 7 5 3 3 3 3 T 7 T 3 5 5 7
Advancements in medical technology % % 3% 5% 2% % % % % % % % 2% - - - 20% - % % 5% % 2% 2% 2% - 6% 1% 2% % 3% 1%
S 726 2% 730 57 271 298 5 233 238 To1 a7 26 100 2 52 3 3 3 0 55 102 2% a5 a0 fre) 3 & 100 63 20 i 35

oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - clde Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE Detailed Tables
Stab

3b. You've indicated that immigration is a top issue for you. What, specifically, are you most concemed about?

GENDER EDUCATION DECIDED-VOTERS LEANERS

FEMALE
Would not
TheNew  TheBloc vote/NoneW  Don't

Theliberal Democratic Québécols TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female g s Univ Grad Party  Party (NDP) (BQ) party other party _ ballot 5
A 3 c ) E 3 G H I 3 K L 0] N ) P R s T [ v w X 02 z a b c d e
Base: Immigration i a top 3 issue 319 151 T68 o4 22 133 2 55 54 9% 22 59 27 32 13 0 T 21 34 16 5 70 52 51 3 T 22 52 i a2 70 56
Weighted 296 155 40 75 107 14 3 52 07 75 27 a7 E o 2 o T o+ e 2 52 w2 75 I 51 2 3 6" 75 a5 0 e
Taa 73 i 30 & 52 2 ) [ ) 6 T 0 7 7 5 T 7 2 T % 3 2 [ 2% 0 T 3 37 [ 37 3
Canada takes in too many immigrants 9% 7% 50% 39% 59% 5% 7% a7 3% 50% 52% 8% 5% 39% 59% 4% 100% 1% 6% % 5% 3% 53% 5% 5% 4% 1% 55% % 2% 62% 2%
3
orevent 1o o Canada legal 92 56 36 20 20 52 3 26 a4 19 52 8 4 9 2 4 0 6 7 u 9 u 9 2 22 8 8 12 36 12 8 16
Teventing Mmigrants from erossing into Canada tlegally 3% 36% 26% 26% 19% 45% 0% 32% % 25% % 6% 3% 4% 2% 2% - 0% 21% 4% 7% % 20% 53% 2% 3% 25% 25% % 2% 4% 4%
o) T OV oV a @
Doing Canada's part to help with the world 19 10 9 1 5 3 1 8 4 6 2 6 10 1 1 o 0 1 0 4 7 1 4 1 1 1 6 2 1 4 3 2
refugee/migrant cisis &% 7% &% 4% 5% % % 0% 3% % % 2% 3% % 7% - - % - 6% 3% 2% &% 1% D 5% 20% 5% 2% 0% % %
3 7
v o . 17 7 10 6 9 2 0 4 7 6 2 6 2 0 2 1 0 1 3 3 3 6 3 o 1 o 3 3 1 3 6 1
oviding more Support for new Immigrant &% % % % %% % - 5% 7% i 2% 1% 5% 2% 2% 0% - % &% 1% 5% 0% % 1% D o% % % % 10% %
E 7
i s 7 7 3 5 2 7 Z 5 3 s T 0 T 0 0 0 T 7 3 T 2 0 2 3 3 3 3 z T 2
Canada needs more immigration 5% 5% 5% 0% % % % 5% % i 3% 7% 3% 3% 9% - - - % 8% % 2% % - 3% 1% 9% % 3% 0% % %
7
9 T 5 2 6 0 3 T 3 3 2 T 3 T 0 0 0 T T 0 2 3 3 . 0 . 0 T 0 Z 5 0
Some other thing 3% % 5% % % 0 %% 1% 2% % 2% 2% 1% % - - - % % - % 5% 7% - % - % - 5% o% 1%
£
o 296 55 a0 75 To7 i) B &2 o7 75 27 a7 Ed T 5] o T [ Ed B B &2 W i B 2 B % 7 ) 5 3
o 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH/ - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE Detailed Tables
Stab

3c. You've indicated that the economy is a top issue for you. What, specifically, are you most concerned about?

GENDER EDUCATION DECIDED-VOTERS LEANERS

FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't

rvaiiv Theliberal Democratic Québécois TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female g Univ Grad e Party Party  Party (NDP) (BQ) party Party otherparty __ballot 5
A 8 ¢ ) E 3 G H I 3 K L ] N ) P R s T v W X v z a b < d e
Base: Economy is a (op 3 issue 523 279 28 %2 215 216 21 53 216 203 76 165 35 28 % 4 T 22 a7 2% % 103 Iz 105 o7 z Eg 20 26 5 % %
Weighied o5 284 210 o7 o2 207 5+ 5" 160 17 o2 157 o o 7 5 o 2 L 35 3 e T00° Torr 7 25 = 5" T36° o 75 o
240 50 0 a7 % 57 % @ o T 7 & T ™ 5 T 0 5 T T £ 5 ® % 3 = T % 3 3T ® 2
Economic growth / fear of recession 9% 4% 5% 8% 0% 8% S0% % 4% 8% 1% 2% W% o7 0% 2% 00% 2% 2% 8% 8% 55% 5% 39% % 0% 8% 2% 8% 8% 61% %
KR
o3 % B 77 o E3 S % = E3 2 £ 5 T 5 T o 7 % 7 £y & = 7 ] 0 5 77 ] % ] &
Affordabilty 21% 6% 2a% 2% 1% 7% 6% 21% 9% 2a% % 20% 7% 7% 50% 2a% - 3% 5% 20% 2% 20% 2% 2% 8% - 2% 2% 1% 3% 7% 26%
3
7 % 7 5 ) i 7 i = % 7 7T 5 0 T T 0 z S} 3 7 i 7 = 5 3 z xs 3T 5 i} 7
Creating jobs 5% 16% 1% % 5% 16% 20% 6% % 1a% % 7% e % ™% 26% - % 2% % ™% 6% 4% 25% 2% 2% &% 16% 2% % 4% 0%
T
E3 % i 5 5 ) T T 12 O T T T T o 0 o T z 7 7 3 S 9 5 T z g ] 5 3 5
Trade % % % % % 9% 2% 5% 7% D o% 1% % &% - - - 5% % 0% % % 0% % 2% % 7% % 9% % % %
T
T o 5 z 7 T T z 5 5 5 3 0 T z T 0 0 T 0 z z z 5 5 T z z 7 0 z 3
Some other thing 3% % % % 2% 5% % % % % % % - % 5% 2a% - - % - 3% 2% 2% 5% 7% % 5% % 5% - A 5%
E o z o o z 5 T T 7 z 7 5 0 o 0 o 0 o 0 o 7 5 0 T 0 o g o 0 T T
Stock market volatiity 2% 3% % 0 5% % 9% % % 3% % 3% 1% - - - - - - - % % % 0 7% - % % 0 - % 2%
£ b
5} 7 7 7 T 3 0 7 z z T 5 z z 0 0 0 0 T 7 z 0 T T z 0 5 T z z 0 T
international Taxation 2% % 2% 7% % % - &% % % % % % 2% - - - - 2% 2% A - % 1% 2% - 4% 1% % % % %
OF
I w1 £ 710 o7 o2 208 EJ s oo 7 o2 57 E3 g £ g O = [ 3 3 % o0 Tor 7 g = 55 % &= 7 &
o 00% 100% 00% 100% 100% 100% 00% 100% 0% 100% 00% 100% 00% T00% 00% T00% 00% T00% 00% T00% 00% T00% 100% 100% 00% 00% 00% 100% 100% 00% 00% 00%

ProportionsiMeans: Columns Tested (5% sk level) - AJB - CIDIE - FIGIH/ - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Z/ab - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Stab

3d. You've indicated that climate change is a top issue for you. What, specifically, are you most concerned about?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
rvatiy TheLiberal Democratic ~Québécois TheGreen  People’s  Orsome  ouldspoil  KnowiNot
TOTAL Female g PostSec  UnivGrad eParty Party  Party (NDP) (BQ) party Party otherparty __ballot sure 5
A 3 c ) E 3 G H ' J K L 0] N o P [ R s T [ v w X 02 z a b < d e
Base: Climate change s a top 3 issue 617 286 331 T30 210 273 15 9 265 28 6 255 75 63 EQ 2 3 2 a3 57 i 110 100 118 21 El 37 103 16 o7 107 27
Weighted 524 259 265 a5 163 217 5 T8 187 167 2 226 &3 35 75 el el o £ 7% 7T S 75 57 T00° 30 2 5 132 103 75 S
|Governmentis not doing enough to combat cimate 240 10 131 68 72 100 2 65 8 68 2 ) 3 1 8 1 0 8 16 43 2 ) ES 4 6 6 15 £ 56 53 34 3
change 6% 2% 9% 7% aa% 6% 5% 52% aa% % 39% % 50% 52% 62% 30% - 39% % 59% 5% 5% % 5% 6% 2% 7% 5% 3% 51% 2% 51%
K T T
Seting indiicual Canadians f change their ben 156 82 7 a7 50 69 2 30 55 58 13 n 2 8 2 2 2 5 o ) 2 27 2 23 3 15 1 2 4 2 2 23
eing inddual Canadians fo change ther benawour 30% 3% 2% 26% 3% 3% 27% 2% 30% 35% 20% 3% 5% 2% 31% 70% 5% 2% 26% 8% 33% 31% 30% 26% 3% 51% 26% 29% 5% 25% 2% 7%
o (e floods,| 69 28 a 22 20 27 6 1 2 21 2 32 4 7 s o 0 5 4 8 13 7 13 ) 14 4 7 7 14 15 13 15
fires, etc) 1% 1% 5% 5% 3% 2% 1% 1% 5% 1% 19% 1% 7% 9% % - - 2% 2% 2% 8% % 7% 0% 4% 1% 7% % 0% 1% 7% 5%
N N
a1 15 14 15 it 2 15 17 13 1 26 0 2 1 o 0 3 3 5 8 u 4 7 6 s s 13 13 8 2 s
Getting other countries to change their behaviour
2% % % 9% % 5% 2% 9% % 7% 2% - 5% 2% - - 1% 0% 7% 2% 2% % 5% &% 5% 1% 5% 0% % 3% %
w
i) 9 z a 5 a 0 T 5 i 2 2 5 0 0 0 T 0 2 3 T 3 2 Z 3 . 3 Z 7 T 3 T
Some other thing 3% % 2% % 3% % - 0 3% 5% % 1% &% - - - 2% - 5% % 2% % 3% % ) - 7% % R 1% ) 1%
RN
o T2 | 20 | 266 05 63 217 3 24 o7 T67 w2 7% w 3 78 3 3 T El 7 7T & % &7 00 £ 2 B3 T2 08 7 B
o 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Proporions/Means: Columns Tested (5% sk level) - AIB - C/DJE - FIGIHI - JKILIMINIOIPIQIR - STTIUVIIXIY - Z/alb - cldle Overlap formulae used. * small base; * very small base (under 30) ineligble for sig testing
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FED VOTE

Stab

3e. You've indicated that taxes are a top issue for you. What, specifically, are you most concerned about?

TOTAL

GENDER

Female

EDUCATION

The

rvativ

The Liberal

The New
Democratic

DECIDED-VOTERS LEANERS

The Bloc

Québécois

The Green
Party

People's

or some

Would not
vote/NoneW
ould spoil

[

Know/Not

FEMALE

Detailed Tables

s Univ Grad e Party Party  Party (NDP) (BQ) Party otherparty __ballot sure 5 1
A 3 c D E 3 G H I 3 K L 0] N ) P Q R S T [ v w X 02 z a b < d e
Base Taves are atop 3 issue 70 230 240 109 93 168 % 89 208 152 166 138 35 27 16 3 2 25 E 33 76 108 55 83 70 5 ) 107 7 &5 EQ 89
Weighted 763 247 215 1257 168 166 C 26 50 116 186 25 e o+ 207 el 7 26 78 a7 a2 % 72 E 707 T EX 01 &5 7T &7 75
288 140 148 1 17 ) 35 i o 84 121 ” 2 6 7 1 2 23 2 26 8 63 54 51 37 ) 2 65 49 4 52 s
Personal taxes are 100 high and should be cut
2% 57% 9% 57% 9% 59% 50% 1% 1% 7% 5% 59% 62% 0% 33% 56% 100% 81% 6% 5% 5% 66% T5% 4% 54% 59% 2% 4% 56% 8% 7% 2%
A X
7 45 30 23 2 30 7 25 2 1 2 20 5 1 6 1 0 3 7 2 1 i s 13 13 4 15 15 15 8 7 )
The tax system isn't working and should be overhauled
16% 8% % 8% 3% 8% 1% 20% 9% 2% 2% 2% 1% 5% 29% 2% - 2% 5% 25% 1% 8% 7% 6% 8% 2% 5% 5% 7% 2% 1% 19%
7
oot ow and shoud be raised 51 34 i 14 i) 23 1 13 13 1 20 13 7 6 1 o 0 o s 6 8 4 10 1n 10 2 8 1n 15 6 4 ]
orporate taxes are (00 low and should be fajser 1% 4% 5% 0% 9% 1% 16% 10% 9% 2% 0% 0% 8% 38% 5% - - % 1% 2% 9% 5% 1% 1% 5% 3% 1% 1% 7% % 5% 1%
oot i ant should b 2 15 ] 10 6 8 0 s 1 4 10 7 0 2 1 o 0 1 2 4 6 4 1 s 3 [ 8 3 4 2 2 s
orporate taxes are 00 high and should be cut 5% &% % % % 5% i 7% 3% 5% 5% % 1% % - - 3% % % 8% 5% 2% % % - 1% % 5% % 3% %
i3 5 9 3 2 5 9 3 z 0 T 2 0 0 0 0 0 T 2 0 8 2 0 [ 5 . 3 Z 2 5 0 T
Some other thing 3% % % &% 1% % 1% 2% 3% 0 &% 2% - - - - - % % - 0% 2% 0 g % - % 1% % % % 5%
OV
personal anes are 100 fow and should b ratsed 10 7 3 1 7 1 7 0 1 1 3 0 2 0 5 o 0 o 0 o 1 6 2 o 1 o 0 [ 1 1 2 o
ersonaltaxes are 0o low and should be rai 2% % 1% % % % 0% - % 1% 2% - % - 27% - - - - - % % 2% - 2% - - % % % D -
- = 27 205 0 | 6 | 166 w 26 T50 Ti6 o6 25 B T E 3 B % W i 52 % 72 0 70 T E To1 & T 57 7
9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Proporions/Means: Columns Tested (5% risk level) - AB - C/DIE - FIGIHI - JKILIMINIOIPIQIR - STTIUVIIXIY - Zialb - cidie Overlap formulag used. * small base; ** very small base (under 30) ineligible for sig testing
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FED VOTE

Detailed Tables
Stab

4. Which of the following is the primary factor in determining how you will cast your ballot on Election Day?

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  The Bloc votelNone  Don't
rvativ Theliberal Democraic Québécois TheGreen  People's  Orsome  ouldspoil  KnowlNot
TOTAL Female PostSec  UnivGrad eParly Party  Party (NDP) (BQ) 1y other party _ ballot 5
A O c ) E F G H i ) K L 0] N o Q R s T [ v X 02 a b c d e
Base: All respondents 2062 936 1126 67 762 533 01 383 905 573 534 646 25 131 153 21 2 115 25 T61 306 07 3% 369 360 To& 36 353 a7 iy 05 356
Weighied 2062 001 061 562 701 755 £ 565 o1 E o 508 222 73 T567 22 T5 307 225 235 327 382 310 £ 325 367 7 £ 87 385 £ 312
1055 a7t E3 303 71 R 55 202 Ex 7 257 757 a5 7 % 5 0 £ T3 T2 o1 201 70 T57 % 3 51 6 720 222 202 Tar
The partys stance on the issues 0% % 3% Sa%% 3% 5% 1% S15% 9% S1% 51% 2% 1% 7% 50% 2% 29% 2% 3% £ 50% 53% 53% 6% 3% 8% 6% 50% 5% 56% 5% 5%
L) 3 € W TRMQ RMQ KNG WX © e
&5 £ E 76 216 ES & 15 77 77 77 % [5 % 5 5 z E3 W &% o0 1§ % 2 1 EYJ 7 0 T 106 05 feE]
The Party and leader 4% 3% 31% 1% 31% 3% 2% 3% 3% 5% 9% 3% 9% 39% 2% 9% 5% 2% 20% 2% 4% 31% 3% 3% % 3% 39% 3% 7% 7% 25% 39%
[ R TNQR ® L el
1 768 62 ) iy 5z ® % o7 7T o o7 ® 15 T 7 5 Ly £ 3T Eg & 5T % 5 7T % % ) % 57 I3
My local candidate 6% 7% 5% 5% 6% 7% 2% 5% T5% 1a% 1% 1a% 20% 2% 2% 29% 9% 31% T8% 1% 16% % 16% 1% 7% 5% 5% 1% 7% 5% 16% 5%
3 RN TRNR 3
I E N S N S - I S T - S - I S - T - - 7 T % T FE I 7 = £ EH £ g £ 56 7 =7 a7 I I T
o 00% 100% 00% 100% 00% 100% 00% 100% 00% 100% 00% 100% 100% 100% 00% T00% 00% 100% 100% 100% 00% 100% 00% 100% 100% 100% 100% 100% 00% 100% 100% 00%
Proportions/Means: Columns Tested (5% rsk level) - AB - C/DIE - FIGIH - JK/LIMINIOIPIQIR - SITIUNIWIXIY - Zialb - ide Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

5. (T2B Summary) Over the past few weeks, have you become more or less likely to vote for the following parties?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
rvativ Theliberal Democratic ~Québécois TheGreen  Peoples  Orsome  ouldspoil  KnowlNot
TOTAL Male PostSec  UnivGrad e Party Party  Party(NDP)  (BQ) Party other party ballot
A B c E G ' M Q S U W
Base: All respondents 2062 936 1126 757 762 533 01 383 905 573 534 646 225 31 153 21 2 Ti5 225 T61 306 @07 35 369 360 04 136 353 a7 331 09 36
Weighted 2062 1001 1061 562 700 758 3017 569 601 501 588 608 242 73 156° 24 5+ 130 223 239 304 382 319 339 323 136" i 337 787 385 364 312
572 302 260 148 173 250 75 178 180 139 398 59 a2 1 18 2 2 1 2 56 o1 102 71 %8 99 53 58 89 155 89 8 %
The Consenvative Party 28% 30% 25% 26% 25% 3% 25% 3% 26% 28% 68% 10% 7% 19% 12% 6% 16% % 11% 2% 28% 27% 22% 20% 31% 39% 33% 26% 32% 23% 23% 31%
L) KIMNQR K KQ v SV
488 %51 737 157 58 172 71 132 153 132 34 35 Ed 17 e o 0 7 7 74 8 3 6 & 72 & 62 E 100 3 5 7
| The Liberal Party 20% 25% 22% 28% 23% 2% 20% 23% 2% 26% 6% 56% 14% 23% 20% - - 13% 8% 31% 26% 2% 21% 20% 22% 2% 35% 26% 21% 25% 19% 23%
E JCMNQR 3 R R 3 W b
389 70 720 151 a1 97 50 03 140 % 56 103 154 0 27 3 z 13 20 62 £ 78 53 31 50 16 a5 73 50 05 8 75
The New Democratic Party (NDP) 19% 7% 21% 27% 20% 12% 7% 18% 20% 19% 10% 7% 64% 13% 7% 14% 13% 10% % 26% 27% 21% 20% 9% 15% 12% 26% 2% 10% 27% 19% 15%
DE E R JKMNQR WXY WXY W W W b B G
3 52 3 23 2 3 0 % 70 & ) 16 8 51 5 o 0 o 7 g ) 16 13 2 21 7 14 16 2 g 3 24
| The Bloc Québécois (BQ) 5% 5% 4% 4% 4% 6% 3% 4% 6% 4% 2% 3% 3% 69% 3% 2% - 0 2% 4% 4% 4% 4% 6% 6% 3% 8% 5% 5% 2% 4% 8%
JKLNQR od
aa5 212 735 156 a1 150 59 11 59 117 77 113 73 20 16 5 3 1 % 77 75 53 58 52 7 2 53 3 o 03 7 55
The Green Party. 20% 21% 20% 28% 20% 19% 20% 19% 25% 23% 13% 19% 30% 27% 73% 21% 22% 10% 11% 3% 24% 2% 18% 15% 23% 7% 30% 19% 19% 27% 21% 18%
DE 3 IKQR QR IKLMQR TVWY W W ab ©
720 107 112 E) B ) % 3 1 50 & a1 3 g 16 21 0 7 8 38 51 @ 70 B 15 10 36 E E 52 s 5
The People's Party of Canada, 1% 1% 1% 16% 12% 6% 9% 1% 12% 10% 12% 7% 16% 12% 10% 87% 2% 6% 8% 16% 16% 11% 13% 7% 5% 7% 20% 1% 7% 14% 12% 5%
E E K KQR WX WX X WX ab e e
09 54 55 52 2 15 5 30 3 % 28 7 15 5 & z 7 5 & 23 29 23 9 5 & z 24 19 1 28 23 7
Or some other party 5% 5% 5% 9% 6% 2% 5% 5% 6% 5% 5% 5% 6% 9% 5% 8% 8% 4% 4% 95 9% 6% 6% 1% 2% 2% 14% 6% 2% 7% 6% 1%
E E WX WX WX W ab B © ©

Proportions/Means: Columns Tested (5% risk level) - AJB - CIDIE - FIG/HI - JK/LIMINIOIPIQIR - STTIUN/WIXIY - Zia/b - c/dfe Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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FED VOTE Detailed Tables
Stab

5. (B28 Summary) Over the past few weeks, have you become more or less likely to vote for the following parties?

GENDER EDUCATION DECIDED-VOTERS LEANERS

FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't

rvaiiv Theliberal Democratic Québécois TheGreen  Peoples  Orsome  ouldspoil  KnowiNot
TOTAL Female < PosiSec  UnivGrad e Parly Party  Party(NOP)  (BQ) Pary P other party _ballot 5
A B D E F G H [l J K L M N o Q R S T u v W X Y z a b c d e
Base: All respondents 2062 936 1126 467 762 833 101 383 905 673 534 646 225 131 153 21 12 115 225 161 306 407 355 369 360 104 136 353 447 331 409 386
Weighied 2062 001 061 562 701 755 £ 565 o1 E o 508 222 73 T567 22 T5 307 225 235 327 382 310 £ 325 367 7 £ 87 385 £ 312
EQ 316 270 72 63 72 7 T57 205 iz = 776 o1 % % [ 5 :g 5T % %2 o %2 % 06 2 3 706 50 T2 i 3
| The Conservative Party 28% 32% 25% 31% 26% 29% 26% 28% 30% 28% 4% 45% 44% 41% 37% 60% 37% 15% 23% 34% 28% 24% 29% 28% 33% 23% 34% 31% 31% 29% 21% 26%
B JOR JOR JOR JOR J J
750 £ 317 7 707 o5 15 %5 15 e 32 22 35 73 i 5 % 7z 7T o7 09 Ed 2 & W 0 piE] 15 Ed o6
The Liberal Party 4% 3% 30% 1% 30% 5% 3% 3% 30% 56% 5% 0% 5% 6% Ga5, 3% 1a% 2% 30% 2% 29% 1% 6% a8 4% 3% 4% 30% 7% 3a%
B T KOR KQR QR KOR K Q STOV a
50 3% %0 b 73 % 152 210 759 235 201 % 3t 5 i) 5 ) £ & 5T 5 £y 52 % = 102 7% a1 7 o7
| The New Democratic Party (NDP) 32% 39% 24% 26% 25% 33% 32% 30% 32% 42% 33% 11% 43% 43% 49% 30% 9% 22% 26% 25% 24% 25% 39% 48% 35% 30% 46% 21% 20% 34%
B KLQR LOR LOR LOR Q STUV. STUV. a d
7 75 3 % B = £ [ % % & 7 5 10 3 o g e = T & = % 5 b % B iy = %
The Bloc Québécois (BQ) % 7% % 5% 7% % &% &% &% 5% 1% 2% 7% &% 3% - ™% &% &% % 5% 0% 5% % 0% % % % % %
i T T U <
513 785 2y 24 a8 71 T 73 ] 1% 202 159 3 z 5 9 5 o % % 75 % © % % L3 @ 5 % 7S 5 %
 The Green Party 25% 29% 21% 22% 21% 30% 27% 25% 25% 23% 34% 26% 26% 30% 5% 39% 33% % 16% 19% 24% 21% 21% 29% 30% 33% 25% 27% 32% 21% 16% 27%
B D KNQR NOR NQR NOR N U SOV, SU d
&6 E 777 50 8 E 57 15 piy 164 206 230 3 30 w© 0 5 Ey W &7 3 02 E3 &) % 5 5 T 7 % 7 o8
The People’s Party of Canada 2% 3% 26% 27% 7% 1% 2% 3% 1% 3% 5% 36% 2% 1% 1% - 4% &% 2% 2% 5% 275 7% 39% W% 3% 1% 3a% 6% 5% 20% 5%
& o) o QR q QR o*® q oV STOV STOV Za o
ey 72 ™0 £ B iy ® 17 5% 105 13 T3 I3 i % 7 z 5 [ 3 5 £y © 7 %2 [ % & a7 5 % 7
|Or some other party 20% 25% 16% 16% 17% 27% 15% 21% 22% 21% 24% 23% 18% 22% 17% 16% 10% 5% 19% 14% 17% 16% 19% 22% 29% 36% 20% 21% 30% 14% 14% 21%
—— s Q Q Q ) 9 Q STOV STOVW a &

Proportions/Means: Columns Tested (5% risk level) - AJB - CIDIE - FIG/HI - JK/LIMINIOIPIQIR - STTIUN/WIXIY - Zia/b - c/dfe Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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FED VOTE
Stab

5. (The Conservative Party) Over the past few weeks, have you become more or less likely to vote for the following parties?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  The Bloc votelNone  Don't
Conservatiy ThelLiberal Democratic ~Québécois TheGreen  People's  Orsome ouldspoil  KnowlNot
TOTAL Male Female Univ Grad e Party Party  Party(NOP)  (BQ) y Party _other party e
O E F H ) K L N P R i a
Base: All respondents 2062 936 1126 467 762 833 101 383 905 673 534 646 225 131 153 21 12 115 225 161 306 407 355 369 360 04 136 353 447 331 409 386
Weighied 2062 001 061 562 701 755 £ 565 o1 E o 508 222 73 T567 22 T5 307 225 235 327 382 310 £ 325 367 7 £ 87 385 £ 312
274 To T2 57 5 26 % 3 % 5 2a1 5 0 z 5 0 0 5 Z 3 & % 5 a7 57 3 2 % £ 3 W %
Much more likely 1% 6% 1% 0% 1% 6% 2% 5% fE 3% 1% % % % A - - % % 9% 1% 5% 0% Ta% 18% 0% 4% Ta% 18% 8% 1% 2%
B c KIVNGR STV
77 0 157 T & 22 £ £ % 7 57 5 = = © z z O = £ 5 &) i B [ % £ i w 57 5 57
Somewhat more likely % 1a% 5% 6% 2% T5% 5% 6% 5% 5% 7% &% % 6% a% &% 6% 5% 0% 1a% 6% 1% 5% 5% 5% 21% 5% 2% 5% 5% 2% 1%
RIMNGR ®Q
712 17 % ™ 7T 3 % % 7 % 3 o 3 T 7 7 z i) = aT % % ® EY 7 5 3T L3 [ L3 % =
Somewhat less likely 0% 2% % 1a% 0% % 2% % 1% 1% % 1a% T5% 5% % 2% 6% 9% 0% 7% 1% % % % % % 7% % % 2% ™% %
3 7 3 7 7 3 TWRY uv
7 % 7 5% w2 68 [ T FE &7 3 102 7 ) @ s 3 7 % £ E & a7 & 78 % EQ G o & E £
Much less fikely 5% 20% 7% 7% 6% 21% % 9% 20% 7% % 325% 2% %% 26% 3% 2% 5% 2% 6% 7% 7% 5% 9% 2% 9% 7% 6% 2% 7% 1a% 9%
s 1R iR R JoR 7 3 w
%07 33 521 753 35 316 a8 Py 302 7% o5 773 o 25 52 5 7 % a7 102 a1 159 5% 7 i 5T 5 2 o2 164 202 ey
No change 44% 38% 49% 43% 49% 40% 49% 41% 44% 44% 28% 45% 39% 39% 52% 34% 46% 7% 66% 43% 43% 49% 49% 43% 37% 38% 33% 42% 37% 48% 56% 43%
L € 7 3 7 3 KLV KN X X °
E N S N S - I S T - S - I S - T - - 7 T % T 0 I = - R I = - N 7 =7 a7 I I T
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
572 269 148 173 250 i3 178 180 139 3% 59 a2 14 18 2 2 1 25 5% o1 102 8 % % 53 58 8 155 8 84 %
28 26% 25% 26% 25% 31% 25% 31% 26% 26% a% 0% 7% 0% 2% &% 6% % 1% 2a% 26% 2% 2% 20% 31% 3o% 3% 26% 2% 2% 2% 1%
) RKTMNGR i KQ v
567 3% 770 7z Fe] 72 7 157 208 W2 % 276 o7 £l E3 s 5 © E & 3 o1 3 % 06 £ W 06 50 [E] 77 3
628 26% 2% 25% 1% 26% 29% 2% 26% 0% 28% % 5% aa% 1% 3% 0% 5% 5% 2% 345 26% 2a% 29% 26% 3% 2% 3% 31% 3% 29% 21% 26%
5 TR QR TR QR 3 3
Base: Excluding DKIPNA 158 18 £ 320 35 W3 Tor £ 385 201 7 36 Tae [ 76 Tow o 76 Tor o3 755 63 755 205 5o Tio® 755 305 201 o1 78
278 6z fe] 57 5 28 % 3 £ & a1 & 5 z 5 0 5 z 2 £ 5 £ a7 57 % % [ % %= i £
Much more fkely 2a% 26% 21% 16% 25% 27% 2% 5% 2% 2% 57% % % % % - - 6% % 6% 9% 0% 9% 2a% 26% 0% 20% 5% 2% 6% 5% 2%
© RLVINR SV
257 ) 57 5T & T2z £ % % 7 157 5 = ) ) z z 5 = = 5 5 a 5T [ % £ a © 57 [ 57
Somewhat more likely 26% 23% 29% 29% 24% 25% 25% 28% 23% 27% 37% 15% 22% 27% 16% 10% 30% 21% 30% 25% 31% 22% 25% 27% 21% 33% 29% 21% 21% 28% 2% 32%
L) KLY ® i
71 7 3 T 7T & % @ 7 % 2z 3 il iy e 7 z = = i % % 5 £ = 0 £ (5 @ I3 % Z
Somewhat less likely 6% 19% 7% 2% 20% 3% 2a% 145 9% 20% 5% 5% 25% 5% 18% 1% 0% 0% 0% 0% 20% e 7% 5% 1% ™% 2% 2% 4% 2% 6% 3%
3 E 7 3 7 3 3 TWXY TWXY b e
37 95 7 % 2 8 [ T % a7 3 707 7 ) @ 5 3 7 % 3 £ 3 @ & 75 % 3 o 08 & 51 £y
Much less likely 32% 32% 33% 30% 31% 35% 28% 33% 35% 31% 1% 57% 47% 43% 58% 49% 40% 23% 37% 29% 30% 34% 29% 34% 38% 30% 25% 31% 36% 32% 32% 34%
R 7 7 3 7
0 G 0 G 0 G o G o G o 0 o o o G o G o G o G o 0 o 0 o 0 o 0 o T
No change - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
158 18 540 30 | s | e 55 £ 385 201 ) E3 a8 7 [0 5 % 7 57 o3 755 T | 1o | o5 & 15 755 3, | eo1 | 1ol 7
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
572 302 260 148 173 250 75 178 180 139 39 59 [ 14 18 2 2 1 25 56 o1 102 A 9% %9 53 58 89 155 89 84 %
28 5% 9% 0% 6% 5% 525 5% 53 6% 9% 94% 6% 26% 2% 2% 0% 0% 7% 3% 1% 50% 53 % 51 % &3 9% 6% 51% aa% 52% Sa%
RLVINR 3 3 sV
£ 316 770 7z fie] 72 75 157 205 2 % 7% o7 £l % b 5 ) 5T £y %2 o %2 % 06 3z w© 106 50 2 7 &
628 1% 515 0% Sa% 1% 8% 1% % 5% 51% % 825 2% Go% T6% 0% 70% 3% &% 5o S0% % 6% 5% 52% 3% 1% Sa% 9% So% 8% 6%
TR 3 7 3 3 v 4

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH/ - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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FED VOTE
Stab

5. (The Liberal Party) Over the past few weeks, have you become more or less likely to vote for the following parties?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc votelNone  Don't
Conservatiy ThelLiberal Democratic ~Québécois TheGreen  People's  Orsome ouldspoil  KnowlNot
TOTAL Male Female Univ Grad e Party arty  Party (NOP)  (BQ) party Party other party e
3 E 3 H ' 3 K L N P R T X z a b d
Base: All respondents 2062 936 1126 467 762 833 101 383 905 673 534 646 225 131 153 21 12 115 225 161 306 407 355 369 360 104 136 353 447 331 409 386
Weighted 2062 001 1061 562 701 799 305 569 691 501 555 508 22 7 156" 2 15 307 23 239 ) 382 310 339 £ 367 7 537 87 385 364 312
218 12 o1 &5 & B 3 0 5 51 [ T8 0 7 2 [ 0 5 2 27 £ 3 30 2 £ T % a @ 0 2 37
Much more likely 0% 1% 0% 2% 0% 0% 2% 1% % 1% 2% 31% 2% &% % - - % % 1% 2% 10% 9% 0% 1% 0% 4% 3% o% 0% 7% 2%
JLMNQR JNR d
275 139 35 ) £ %2 % 7z E 78 B 153 E [ B 0 0 T 5 a7 % 5 Bl B Ed [ B 3 57 E3 W5 B
Somewhat more likely 5% 1a% 5% 6% 5% 1% 2% 3% 5% 6% a% 25% 2% 7% 9% - - % 7% 20% 2% 1% 2% 0% 2% 1% 21% 1% 2% 1% 2% 1%
3 QR 7 R IR Wi b
219 108 2 75 75 &9 3T 5 7 o1 5 27 [ 3 2 2 2 5 EQ £ [ £ T £ £ 7 % £ D 5T ) 2
Somewhat less likely 1% 1% 1% 3% 1% % 0% % 1% 2% 0% % To% 0% 20% 0% 6% % 16% 5% 2% 9% 3% % 10% % 3% 0% 10% 3% 1% %
E K JKQ K JKQ KQ w w e
781 276 205 100 2 29 7 1 75 o %67 5 7 27 0 g z [ E 36 ) 75 57 % o7 El B 75 i) & E3 &
Much less likely 7% 2% 9% 16% 5% 31% 5% 5% 5% 6% 5% % 31% 375 2% 545 7% 0% 6% 5% 20% 20% 8% 29% 30% 39% 21% 2% 34% 6% 5% 7%
3 o T T RLNQR KQR KQR KQ K K STV STV STV Z E
574 367 507 230 £ 308 25 28 %64 217 26 737 EQ 21 5 £l 9 % 3 % 36 181 55 149 120 39 5 38 73 175 98 T3
No change 22% 37% 28% 1% 28% 39% 22% 4% 1% 3% 39% 39% 36% 29% 35% 36% 61% 73% 60% 39% 22% 4T% 49% 44% 37% 28% 31% 41% 36% 45% 550 43%
A E JRLWN JRCVN XV XY Y ©
o 62| ool | doer | sz | 7oL | 7ee | a1 | s | 6oL | s | e | e | 2a2 7 56 B 15 T30 25 | 2% | s | aee | a8 | s% | s | 1% 7 £ a7 E S T
9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
488 251 237 157 158 172 i 132 153 132 34 339 34 [ 31 [ 0 [ 17 4 83 %2 66 68 72 32 62 89 100 % 69 72
28 2% 25% 2% 26% 2% 2% 2% 23% 2% 26% % S6% % 2% 20% - - 1% &% 31% 26% 2% 21% 20% 2% 2% 5% 26% 21% 25% 19% 2%
3 JIMNGR 7 R Bl 7 i D
700 ES EY 5 207 05 169 %54 15 1 £ 22 E3 7 3 6 i 7z 7T 04 08 o7 22 & 50 0 713 5 o7 06
628 3a% 38% 0% 1% 0% 5% 3% 3% 30% 6% 5% 50% 8% 6% 6a% 39% 1% 2% 30% 2% 2% 3% 3% 8% 4% 3% 2% 30% 27% 3%
3 T KQR KQR KQR KQR K KQ STV a
Base: Excluding DKIPNA Tiee 635 554 332 365 291 76" 321 707 265 £ 371 T56" 52 Toar o 5 B9 a5 67 201 o4 90 56 22 200 315 210 165 78
213 2 o1 & & 81 E & & El 5 166 7 7 2 0 5 2 27 E E Ed E i) % a1 a W % E
Much more likely 1% 8% 1% 9% 19% 6% 20% 9% 6% 9% % 50% % % 2% - - 1% 2% 9% 20% 9% 8% 1% 1% 20% 2% 4% 9% 5% 2%
JIUNR 3
275 139 35 9 o %2 % 7z £ 78 £ 153 £l [ £ 0 0 ) 5 a7 % 5 37 £ 3 i) 37 (3 57 5 @ £
Somewhat more likely 23% 22% 24% 28% 25% 19% 20% 2% 22% 28% 6% A41% 19% 25% 28% - - 33% 17% 33% 24% 27% 22% 19% 19% 19% 30% 23% 18% 26% 2% 20%
3 IR 7 ) 7 7 WX o
215 08 2 75 75 El Bl @ 7 ) E 27 3 s E 2 7 5 % 3 W0 3 i Bl E i % B @ Bl % E
Somewhat less likely 6% 7% 20% 23% 21% 1a% 7% 5% 9% 2% 7% ™% 0% 5% 31% 5% 1% 5% % 2% 21% 1% 25% 1% 7% 2% 9% 1% 6% 2% 20% 1%
3 £ K JKW K IR IR W W e e
781 276 205 100 FER 29 7 1 75 o 267 5 7 27 [ [ 7 [ £ E3 ) 75 57 % o7 5 37 75 68 5 5 %
Much less likely 40% 43% 37% 30% 36% 51% 2% 44% 43% 32% 74% 1% 49% 53% 39% 85% 59% 37% 40% 25% 34% 37% 35% 52% 48% 55% 30% 38% 52% 30% 34% 48%
o) T T RLVINR K K K K STOV STV STOV Za =
T o T o T 0 o 0 0 o 0 0 0 o 0 o o o 0 o o o o 0 0 0 o T 0 T o 0
No change - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
S 188 635 554 332 365 291 76 £ 207 265 £ 371 156 108 9 6 3 5 5 167 201 o8 90 203 % 122 200 315 210 65 78
'oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
488 251 237 157 158 12 7L 132 153 132 34 339 34 17 B o 0 1 1 7 8 %2 66 68 72 B 62 89 100 % 69 72
128 1% 0% % % W% 5% Q0% 1% 6% 6% 9% 919% 2% 3% 30% - - % 19% 51% 2% 6% % 36% 36% 3% 51% 5% 2% 6% 2% %
3 E Gl JIUNR 7 3 7 WX b b
700 383 17 75 207 319 05 189 %54 153 327 2 22 35 73 6 5 72 T 08 09 o7 22 a1 3 50 10 713 115 o7 06
628 So% 60% 5% 3% 5% 65% 60% 59% 62% 5a% 1% 5% 78% 7% 0% 100% 100% 53% 1% a5% 56% 4% 59% 4% 6% 6% 9% 5% 68% 5% 8% 59%
o) T RLWN K K K © s s Za

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH/ - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

5. (The New Democratic Party (NDP)) Over the past few weeks, have you become more or less likely to vote for the following parties?

Detailed Tables

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  The Bloc votelNone  Don't
Conservatiy ThelLiberal Democratic ~Québécois TheGreen  People's  Orsome ouldspoil  KnowlNot
TOTAL Male Female Univ Grad e Party Party  Party(NOP)  (BQ) Pary Party _other party e
O E F H i ) K L N P R i X z a b d
Base: All respondents 2062 936 1126 467 762 833 101 383 905 673 534 646 225 131 153 21 12 115 225 161 306 407 355 369 360 104 136 353 447 331 409 386
Weighied 2062 001 061 562 701 755 £ 565 o1 E o 508 222 73 T567 22 T5 307 225 235 327 382 310 £ 325 367 7 £ 87 385 £ 312
06 51 5 £ % = [ % = % 5 :9 T 3 Z 0 Z 5 T [0 % [0 [0 o 5 5 2 0 T &3 i o
Much more likely % 5% % 0% % % % &% % 5% % % 29% % % - 5% % 0 % 2% % % % % % 2% % % 0% % %
OF 7 JRMNGR R VWX 0 I3
282 iy ] o7 W 7T E3 &7 o7 7 E B & 7 % 3 o g £y @ E & E 7T i o %5 EJ ES 7 5 %
Somewhat more likely % 2% 5% 7% 6% 9% 5% 2% 5% 1a5% % 1a% 4% % 6% Ta% - ™% % 9% 6% 6% 6% &% 5% ™% 0% 7% % 9% T5% 2%
3 £ 7 JRMNGR WY W W W W b b e
%% 55 2% 52 7 o7 [ & % & o 103 i by % T 3 7 = aT a 3 [ L3 © i) % 3% 7 % % 3
Somewhat less likely 1% 1a% 1% 5% 1% 3% % 1% fE 1a% 1% 7% % 5% 2% 5% 20% 5% 0% i 5% 8% 5% Ta% T5% % 6% 1% 5% 1a% 0% 1%
9 9 QR T T
37 = gy 3 % 7% 5 19 FeIy £y 61 % ) ) £ Ey z 5 77 7z £ 3 E3 3 7 B ES & i % % 7
Much less fikely 5% 5% 5% 1% % 2% 9% 21% 7% 16% 31% 6% 5% 27% 20% aa, 0% W% 2% % 2% 6% 2% 25% 7% 39 20% 9% 2% ™% 0% 2%
5 ) KLQR o KLQR o T STOV STOV STUW Za e
1022 a1 51 78 3% 365 52 708 a1 7% 285 308 3 ) © 9 5 105 52 13 52 710 7 7% 3% 3 © 162 pity 59 721 58
No change 50% 44% 55% 48% 55% 46% 50% 50% 49% 49% 49% 50% 26% 44% 40% 37% 57% 81% 68% AT% 48% 55% 55% 52% 43% 40% 39% 48% 43% 52% 62% 51%
A oE T T T T KLV KN XY XV X co
I E N S N S - I S T - S - I S - T - - 7 T % T 0 I = - R I = - N 7 =7 a7 I I T
9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
389 170 220 151 141 o7 50 103 140 % 6 103 154 10 2 3 2 13 20 52 8 3 63 3t 50 16 3 7 50 105 3 %
28 9% 7% 21% 27% 20% 2% 7% 16% 20% 0% 0% 7% 4% 3% 7% 1a% T 0% % 26% 27% 21% 20% % T5% 2% 26% 2% 0% 2% 0% 5%
OF € ® JRMNGR WXY WXY W W W D 0 e
550 £ 750 Tz 3 ] % 152 70 159 7% 201 % 3T & = 5 = 5 ) £ 3 £ = % 3 @ 02 7% &1 72 o7
628 2% 39% 2a% 2% 25% 2% 3% 2% 0% 2% 2% 3% % 3% 4% a9 0% % 2% 2% 25% 2a% 25% 39% 2% a8 5% 0% 6% 21% 20% 3a%
5 o RLQR QR QR QR o SOV STOV SOV a el
Base: Excluding DKIPNA 040 560 G0 295 315 330 i 265 350 756 302 EQ 7o i 95+ T 75 7o 26" 69 72 T Toh o5 1 Too* 75 276 T66 T30 o4
08 51 57 El % % EE] % = % 5 ) 7T 3 z 0 5 T & E3 % ) o 5 0 2T @ 5 £ i o
Much more fkely 0% % 2% 16% % % 9% 3% % 0% 2% &% Q0% 7% 2% - 9% % e 2% % B% % % ™% 19% % % 6% 0% %
OE 7 TRMNR 7 TATXY b e
72 5 6% 57 ] 7T Eg o7 o7 7 5T 3 5 7 % 3 0 9 £ % 5T 5 5T 7T a o % £ 3 7z £ %
Somewhat more likely 2% 21% 34% 33% 36% 17% 25% 24% 30% 27% 17% 28% 46% 16% 26% 22% - 35% 28% 37% 30% 36% 36% 13% 22% 12% 23% 34% 13% 39% 39% 24%
L) 3 3 7 L WXY Wy WXY WXY D ° e
763 % 2% £ 7 o7 [ & % & & 103 ) Y % T 3 7 = i T 3 [ I3 @ 5 = % 7z £ % %
Somewhat less likely 25% 5% 26% 28% 2a% 5% 26% 2% 26% 27% 2% 345 % 26% E &% 6% 6% 3% 3% 2% 9% 29% 6% 2% 5% 5% 2% 2% 20% 2% 2%
T T T T T G
387 75 ey & % 7% 5 119 21 % o1 % S} % £ by z 5 77 2z £ o1 % % 57 3 3 & 5 % Ed 7z
Much less likely 37% 45% 28% 21% 31% 53% 38% 42% 34% 35% 60% 32% 6% 49% 34% 70% 23% 21% 38% 18% 23% 36% 2% 53% A% 65% 32% 36% 56% 14% 26% 47%
B 3 o) RKINR T KL T T ST STOV STV STOV Z < o
0 0 0 G 0 0 o G o G 0 0 o 0 o G o G o G o 0 o 0 0 0 o 0 0 0 o 0
No change - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
S 040 S0 | 4w | o5 | a5 | 40 a5 265 350 7% 302 EQ 75 i % (5 7 3 7 T26 69 72 a3 Tor o5 o1 05 75 276 T66 T30 o4
'oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
389 170 220 151 141 o7 50 103 140 9% 56 103 154 10 27 3 2 13 20 62 89 78 63 a1 50 16 4 7 50 105 8 3
28 3% 0% 6% 515 5% 2% 4% 6% 0% 38% To% 335 B6% 245 26% 2% 31% 53 2% S0 52% a6% 4% 9% 2% 9% 2% 2% 8% 5790 9% 0%
) 3 € 7 TRMNR WXY WXV WXY WXY b b e e
50 3% 260 Tz 75 ] % 152 210 759 235 201 % 3T © Z 5 Z % 5 51 % 5 52 5 % = 102 7% a1 7 To7
628 6% 0% Sa% % 5% 78% 6% G2 60% 2% 1% G6% % 6% 72% 8% 9% % 1% So% 5% Sa% 6% B1% 73% B1% 6% £ 2% W% 1% 0%
B o) KL T T T T STOV sTOV STOV Za o

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH/ - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE
Stab

Detailed Tables

5. (The Bloc Québécois (BQ) Over the past few weeks, have you become more or less likely to vote for the following parties?

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE

Would not
The TheNew  TheBloc vote/NoneW  Don't

Conservatiy ThelLiberal Democratic ~Québécois TheGreen  People's  Orsome ouldspoil  KnowlNot
TOTAL Male < PosiSec  UnivGrad e Parly Party  Party(NOP)  (BQ) y Party otherparty _ballot
A O c ) E F G H I p) 3 L ] N ) P [ R S T U v W X v z a b c d e
Base: All respondents 901 401 500 166 352 383 50 149 415 287 156 293 65 131 64 4 4 58 126 50 116 165 187 179 173 31 60 171 170 106 181 213
Weighied 84 232 252 55 162 207 B+ 15 72 T 52 158 75" 73 25 T il 3 7T EG 55 ) o2 57 o1 o+ i 5 £ Ed 5 110
2 % S g 7 19 7 0 7 5 3 7 T % T 0 0 o Z 5 0 7 7 5 5 2 7 5 T 2 5 0
Much more likely % 0% % % 8% % % 1% % % % % % 39% % - - - 2% 5% % % ™% % 0% ) 7% &% 1% % % %
JKLNQR a
% % 77 @ 5 77 7 = % @ 12 g 5 2z 7 0 o 0 z 3 S g 5 @ 12 T 7 o ) O 5 %
Somewhat more likely 2% 3% 1% 5% % 3% % 2% T5% 3% 1% &% 2% 0% 2% 1% - % % 0% 6% 1% % 5% 5% ™% 6% 1% 2% 2% 5% 5%
F KQR KQR JKNGR ® v v a
£ E) 3 7 b = 7 ) 7 9 10 = 2 5 3 T 0 3 5 7 7 5 7 T o 0 5 9 ™ 5 o o
Somewhat less likely 1% 3% 0% 1a% 1% 1% 20% 0% 0% % 2% 5% % &% 0% 5% - % 1% 6% 2% % % 2% 1% - 21% % 2% % 2% %
il o a
& @ % & £ E3 T 7T % ) ] i z 0 7 z o O 5 7 5 = ) 5 T 5 5 % b 7 ) ©
Much less fikely 7% 20% % 6% 7% 7% 7% 6% 5% 16% 2% 265 7% % 2a% 2% - 7% %% 6% % 5% 9% 5% 16% 7% 20% 2% 16% 2% 2% 7%
VR [ i R W o
235 107 a5 ) o3 @ 57 5 £ o 7 15 i T 0 3 =% Eg @ % a £ W @ o ) W % 3 5 57
No change 51% 45% 57% 46% 56% 51% 50% 52% 53% 49% 49% 62% 24% 51% 12% 100% % % 39% 50% 59% 55% 50% 48% 54% 23% 52% A% 63% 61% 52%
L) W M W M KN TR s Z 4
I Ta | o | o 3 o2 207 3 5 72 T 3 T5s £ 7 £ 7 3 = 7 % E3 % o2 57 5T ™ T % 57 = 5 0
9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
% 52 % 23 29 46 10 % [ 23 14 16 5 51 5 0 0 0 4 9 14 16 13 22 21 4 14 16 2 8 13 24
28 20% 2% 6% 2a% 6% 2% 2% 2% 2% 20% 7% 0% 26% Go%% T5% 1% - % % 22 2% 0% 5% 2% 2% 20% 5% 1% 2% 6% T5% 2%
QR KQR JKLNQR QR v v v a
7 7 3 % B E = £ [ % % & % 5 10 3 o g @ = T & = % 27 5 b % B iy = %
628 26% 2% 2a% 0% 26% 28% 3% 26% 5% 2% 4% 1% 5% ™% 7% - 5% To% 7% 2% 2% 2% P 29% 7% 2% 3% 30% 21% 2% 26%
5 TR VR
Base: Excluding DKIPNA 23 27 To7 5T % 02 3 E3 5 % z o1 T~ 5o 22 %o 3 6 3 a o Eg [ EY 20 5 3
5 z g 5 @ o) 7 = 7 g 3 7 T % G 7 7 7 5 5 z 7 0 T 2 5 5
Much more fkely 6% 16% 7% 7% 7% 16% 6% 21% 7% 7% % &% % 525 - - - 2a% 2% 20% 6% 6% T9% 6% 2% 2% 21% 0% 2% 6%
)
% % 7 @ i 7T 7 = % 7 = 9 5 z 7 0 0 0 z 3 b 9 5 ™ ™ T 7 o S} 5 5 ©
Somewhat more likely 24% 23% 25% 27% 19% 26% 8% 23% 31% 27% 28% 11% 56% 39% 25% 12% - 5% 14% 16% 36% 27% 13% 30% 25% 14% 24% 23% 22% 32% 14% 30%
i ® v v T
E3 % % @ © z 7 5 7 g 10 % z 5 3 T o 3 5 7 7 5 e iy ) 0 5 g 12 5 ) i
Somewhat less likely 2% 2% 2a% 2% 2a% 21% Q0% 21% 20% 7% 2% 0% % &% 20% 29% - 2% W% 0% 2% T6% 0% 2% 2% - 2% 20% 2% 2a% 30% 9%
W W
3 @ % & 3T % T 7T % E) 15 T z 0 7 z 0 5 5 7 5 = ) i T 5 5 % 7 7 S} 19
Much less likely 35% 36% 34% 29% 39% 34% 35% 35% 32% 39% 43% 50% 18% 1% 48% 59% - 63% 34% 30% 28% 37% 41% 31% 34% 57% 26% 45% 34% 33% 32% 35%
M o —
0 G 0 G 0 G o G o G o 0 o G o G o G o G o G o 0 o 0 o 0 o 0 o T
No change - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
S 23 27 Tor 5 % o2 3 5 2 T [ 3 0 5 T » % % [ 5 3 5 51 % 3 =
'oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
% 52 I3 23 29 46 10 2 40 23 14 16 8 51 5 0 0 0 4 9 14 16 E] 22 21 4 14 16 22 8 13 2
28 2% % W% 2% 6% 5% 2a% 2a% 8% 2% 4% 20% &% 915 31% 2% - 5% 7% 0% W% a7 2% 6% % e a6% 5% % a3 38% 6%
® v
a7 13 3 =% 5T £ £ = [ E) % & 7 5 b 3 0 9 E = T w Eg % i 5 7 ) % T = %
628 So% So% 5% S6% 4% S5% 6% S6% 2% S6% 6% B0% % % 9% B8% - 5% 7% 0% 2% 3% 1% Sa% 6% 7% Sa% 5% 5% 7% 2% Sa%
7 o T

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH/ - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Detailed Tables
Stab

5. (The Green Party) Over the past few weeks, have you become more or less likely to vote for the following parties?

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
Conservativ TheLiberal Democratic ~Québécois TheGreen  People’s  Orsome  ouldspoil  KnowiNot
TOTAL Male Female < Univ Grad e Party party  Party(NOP) __(8Q) party Party _other party
3 E 3 H ' 3 K L N P R T X z a b d
Base: Al respondents 2052 935 1126 67 762 533 01 353 905 573 531 645 225 31 53 21 ) 115 25 ToT 306 207 355 369 360 o4 36 353 a7 31 09 386
Weighted 2062 001 1061 562 701 799 305 569 691 501 555 508 22 7 156" 2 15 307 23 239 ) 382 310 339 £ 367 7 537 87 385 364 312
27 &2 & 56 E 3T 2 % [ % 2 2T [ 2 i [ 0 2 6 a1 7 % T 7 2t 3 2t [ 2 3 2t 5
Much more likely &% &% &% 10% 5% % 1% % 7% 5% 2% % 5% % 5% - - 2% 3% 7% 5% 7% % % % % 2% 5% 5% % &% %
OF G IRIMOR TOVWAY W W ©
320 50 70 % 03 118 27 &7 B S El o 3 s k) 5 3 T 19 w2 57 % a 5 B E a7 7T 7 E3 a7
Somewhat more likely 16% 5% 16% 8% 5% 5% 9% 5% 16% 8% 1% 5% 26% 2a% 28% 2% 2% % 9% 5% 9% 5% 1% 3% 7% 5% 6% Ta% 5% 7% 5% 5%
3 IKQR JKQR IKQR
226 20 06 &8 T 5 3T o 7 57 7 9 % il 5 3 7 7 7 £ Ed T 0 £ 30 2 2 £ 5 [ EQ £
Somewhat less likely 1% 2% 10% 2% 10% 1% 10% 1% 1% 1% 3% 1% 5% 1% 3% 1% 25% % &% 1% 2% 1% 9% 0% % 6% 3% 0% 5% 2% 0% 8%
NQ NQ NQ NQ
268 69 118 55 7 55 50 75 B 59 25 ) % [ 3 7 T 5 1 15 E 3 E & 3 Bl 2 5 ] ES 3 &
Much less likely 1% 7% 1% 0% 1% 9% 7% 1% 1% 2% 21% 5% 1% 6% 2% 28% 8% % 8% 7% 2% 0% 2% 9% 21% 8% 2% 6% 9% % % 20%
3 o RLNQR NQR N NQR N S0 STV s E
1102 S 602 283 a2 208 o1 315 359 %67 309 336 06 32 £ £l 7 107 62 115 67 219 93 90 51 7 50 183 %7 203 28 71
No change 53% 50% 5% 50% 59% 51% 5% 55% 52% 53% 53% 5% 2% 3% 2% 35% 6% 82% 73 8% 52% 57% 60% 56% % 9% 5% 5a% 9% 53% 63% 55%
L) CE N [ N N JRTWN KLV X <
o 62| ool | doer | sz | 7oL | 7ee | a1 | s | 6oL | s | e | e | 2a2 7 56 B 15 T30 25 | 2% | s | aee | a8 | s% | s | 1% 7 £ a7 E S T
o 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
446 212 235 156 1a1 150 59 111 159 117 i 113 73 20 116 6 3 1 2 i 79 83 58 52 75 2 53 64 94 103 76 55
28 2% 21% 2% 26% 20% 19% 20% 19% 23% 2% 1% 9% 30% 27% 3% 2% 2% 0% 1% 2% 24% 2% 18% 5% 23% 7% 30% 0% 5% 27% 71% 18%
OE 7 JKQR TR JKLMOR VWY W W D <
513 289 28 E7) ) 21 1 3 73 156 202 15 & 22 8 3 5 o E 3 78 &0 @ % E 3 ) & 55 79 E &
628 25% 29% 7% 2% 7% 30% 27% %5% 25% 2% 3% 26% 26% 30% 5% 39% 3% ™% 6% 9% 24% 21% 21% 29% 30% 3% 25% 7% 2% 21% 6% 2%
3 oo RNGQR QR QR NQR N U SOV SU
Base: Excluding DKIPNA 960 501 w59 280 289 391 a0 250 32 231 279 272 36 2 23 o 7" G0 T50 i7) 50- o7 o4 250 162 T35 Ta1
27 & & % 3 3t 2 % I3 % ) 2t ) 7 7 0 7 © 2 3 2T 7 3 % 7 s
Much more likely 1% 2% 1a% 2% 1% 8% 23% 10% 1% 10% % % 8% 5% 58% - - 0% 0% 5% 2% % 2% 1% 9% 20% 5% &%
£ G TKIMR W
320 50 70 % 03 118 27 &7 B % ) o 52 5 ) 5 3 T 9 a 5 B 32 a7 7 7 5 a7
Somewhat more likely 3% 30% 37% 35% 35% 30% 9% 3a% 3% 0% 7% 3a% 5% 3% 36% % 0% % 2% 0% 1% 30% 2% 31% 2% 3% a% 4%
F ) 7 7
2% 20 06 &% 7T 5 3T & 7 57 2 & % s 5 3 7 7 17 EY E3 i) Eg £ EQ 2] 3 £ 5 I3 % %
Somewhat less likely 20% 2% 2% 2% 20% 2% 2% 25% 2% 25% 2% 26% 26% 20% % % a5% % 28% 2% 25% %% 24% 2% 7% 31% 23% 2% 25% %% 2% 7%
N N N N N
268 69 118 55 78 55 50 79 £ 59 23 % % [ 3 7 T 5 18 © E 3 E 5 8 £ 2 55 £ ES B 52
Much ess liely 0% 4% 26% 20% 7% 0% 36% 31% 30% 25% % 33% 20% 32% 2% % % 2a% 29% 1% 25% 2a% 1% 2% 39% 35% 2% 35% 3% 8% 7% %
B o RN o N N N S S0 STU s )
T 0 T o T 0 o o o o 0 0 0 0 o o o o 0 o o o 0 0 0 0 o T o T o 0
No change - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
S 960 R 759 280 269 ) T80 254 32 ) 279 272 36 128 5 50 23 156 163 126 T50 i) 9 o7 50 250 162 13 Ta1
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
445 212 235 156 141 150 59 1 159 17 i 13 B8 20 116 6 3 14 % 7 7 83 58 52 s 2 53 64 9 103 7 55
128 % 2% 51% 56% 9% 38% 2% 2% 8% 50% 27% % 5% 8% 9% 1% 0% 59% 2% 63% 50% 51 6% 3a% 3% 3a% 5% 2% 3% 579% 56% 39%
A 3 E 3 7 3 TKIMR VWXV W W
513 289 2 120 28 21 1 3 73 116 207 159 5 2 8 £l 5 0 £ 5 75 80 & % % (3 ) 89 55 79 59 %
828 5% 56% 9% 2% 51% 2% 8% 56% 52% 50% 73% 59% 6% 52% % 59% 50% % 6% 7% 50% % 4% G6% 57% 6% 6% 58% 62% 3% % 1%
3 ) RCWN N N N N s STU s s z Ed

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH/ - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

(tab) of (tables)



FED VOTE

Detailed Tables
Stab

5. (The People’s Party of Canada) Over the past few weeks, have you become more or less likely to vote for the following parties?

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  TheBloc vote/NoneW  Don't
Conservativ TheLiberal Democratic ~Québécois TheGreen  People’s  Orsome  ouldspoil  KnowiNot
TOTAL Male Female < e party party  Party(NOP) __(8Q) 1y Party _other party
3 E 3 H ' 3 K L N P R T X z a b d
Base: Al respondents 2052 935 1126 67 762 533 01 353 905 573 531 645 225 31 53 21 ) 115 25 ToT 306 207 355 369 360 o4 36 353 a7 31 09 386
Weighted 2062 001 1061 562 701 799 305 569 691 501 555 508 22 7 156" 2 15 307 23 239 ) 382 310 339 £ 367 7 537 87 385 364 312
50 36 2 % % 0 [ T 7 [ 2 o 7 7 3 7 0 2 T 5 5 ) 0 5 3 © 0 [ s T 7 2
Much more likely 3% % 2% % % % % % 2% % 2% % 7% 5% 2% 2% - 1% 0 % 5% 3% % % 1% 0 % 5% % % % 1%
3 E KR & X X o 0 ©
159 7T & & 57 EJ 5 w El 3 E % 2 5 5 i) 0 5 7 2 E El % 7 5] i % 9 % E Ed )
Somewhat more likely % 7% 5% 1% 5% 5% 5% % 9% i 10% % 9% % 8% 59% 2% % 8% 2% 1% % 8% 5% % % 5% &% 5% 0% 0% %
3 E K K Wx WX X X b e e
203 102 To1 7 75 56 T 5 i 5 1 o7 % 5 7 0 7 7 9 El 3 a1 3 % % 5 21 [ EQ 5T 2 7T
Somewhat less likely 10% 10% 10% 3% 1% i % % 0% 9% 10% 1% 1% i 1% - 29% % 9% 1% 2% 1% 1% % % 5% 2% Ta% % 3% % %
3 E Q Q Q X b ©
764 28 76 78 i) 273 5 3 6 20 5 163 [ % s 0 z 7 Ed ES ) o1 52 05 116 5 El & 186 a W5 B
Much less likely 2% 29% 7% 4% 16% 3a% 8% 2% 21% 2% 2% 27% 18% 3a% 30% - 26% &% 1% 1% 1% 6% 6% 31% 36% 39% 9% 20% 3% 1% 2% 8%
3 o R (R Q QR oR STV STV STV Z E
75 500 671 320 730 w21 78 318 392 286 318 337 [ 3 i 3 7 112 56 EEE] o1 237 93 185 169 7 57 18 232 238 28 189
No change 5% 50% 3% 58% 1% 53% 59% 56% 57% 57% 53% 55% 5% T 9% % 3% 86% 0% 56% 59% 2% 60% 5a% 52% 9% 9% 55% 8% 2% 6% 1%
) E JRIVNR | JKLVN
o 62| ool | doer | sz | 7oL | 7ee | a1 | s | 6oL | s | e | e | 2a2 7 56 B 15 T30 25 | 2% | s | aee | a8 | s% | s | 1% 7 £ a7 E S T
o 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
220 107 112 89 83 8 2 62 81 50 68 a1 39 9 16 21 0 7 18 38 51 43 0 23 15 10 36 38 34 52 5 15
28 1% 1% 1% 6% 2% &% %% 1% 2% 10% 2% i 16% 2% 10% 7% 2% % &% 6% 16% 1% 3% % 5% % 20% 11% % 1a% 2% 5%
3 E i KQR WX WX X WX D © ©
668 390 277 50 168 30 o7 169 218 164 206 230 69 El & 0 8 T 9 &7 82 102 E T8 39 59 5% By 22 % 7 08
628 2% 39% 26% 27% 7% % 2% 3% 3% 3% 5% 38% 29% % % - 5% 8% 2% 26% 25% 27 2% 39% 3% 3% 31% 3a% 6% %% 20% 35%
3 <o [ TR ToR Q OV STOV STV Za
Base: Excluding DKIPNA 587 378 23 251 298 215 278 271 108 39 81 7 To &7 105° 53 a5 26" 155 54 60 o1 51 255 a7 Tio* 125
% 0 E) 0 17 2 ) % 7 4 3 7 2 T 5 1 ) (] © 3 0 ) i 8 i) 7 2
Much more likely % 3% 9% i % i % &% 15% % 3% 3% - % % % 1% % % % 2% 1% 1% 2% 3% % % 2%
JKNR XV X X b b e
59 £ 5 = ) E3 5 % 2 5 i i) 0 5 i 2 £ £ % 7 5 0 % i % E 3 2
Somewhat more likely 8% 0% 2% 6% 7% 7% 71% % 20% 1a% 6% 7% % 31% 26% 7% 27% 21% 2% 1% 8% 4% 2% 3% 0% 2% 2% 0%
© K K WX WX WX D © e
g E T @ 7T @ o o7 % 5 17 o 7 7 15 £ £ a1 3 % = © 71 I3 % 5T % 7T
Somewhat less likely 2% 5% 34% 8% 20% 2% 2% 25% 20% 1% 21% - 50% 9% 29% 32% 2% 28% 27% 7% 5% % 23% 30% 1% 35% 24% 7%
WY XV XV XV b 0
754 273 5 3 a6 20 5 163 ] % ] 0 7 7 0 Ed ) o1 52 05 116 5 E 8 86 ) @ 7
Much ess liely 52% 72% 5% 57% 9% 56% 53% 0% 0% 3% 59% - 5% % % 3% 3% % a% 6a% 75% 6% 3% 5% 3% 0% 3% 1%
<o T T STOV STV STOV Za <
T 0 T o T 0 o o o o o 0 o 0 0 o o o o o o o o 0 0 0 o T 0 T o 0
No change - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
S 867 298 390 738 271 378 128 251 298 215 278 271 108 1 9 57 105 fE) 5 126 15 50 9 o 51 255 a7 1o 123
oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
220 107 112 89 83 48 % 52 81 50 3 a1 3 9 16 21 0 7 18 38 51 43 3 23 15 10 3 3 34 52 5 15
128 25% 2% 29% 37% 3% 1% 21% 25% 27% 2% 25% 5% 36% 2% 9% 100% % 0% 77% 36% 8% 30% 3% 5% 0% 5% 0% 2% 3% 36% 3% 2%
A 3 E K K WY WXY WX WX b b O e
668 390 277 150 168 330 o7 189 218 167 206 730 5 30 & 0 8 T o o7 52 102 EQ T3 139 59 55 Tz 22 % 7 08
828 75% 8% 1% 3% 9% 7% 9% 5% 73% 7% 75% B5% 4% 7% 1% - %% 0% 3% 643 2% 0% 6% B5% 0% B5% 50% 5% 7% Ga% 2% Ba%
3 o) Y STOV SOV ST Za Ed

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH/ - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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5. (Or some other party) Over the past few weeks, have you become more or less likely to vote for the following parties?

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  The Bloc votelNone  Don't
Conservatiy ThelLiberal Democratic ~Québécois TheGreen  People's  Orsome ouldspoil  KnowlNot
TOTAL Male Female < e Pary Party  Party(NOP)  (BQ) Pary Party _other party
O E F H i ) K L N P R i X z a b d
Base: All respondents 2062 936 1126 467 762 833 101 383 905 673 534 646 225 131 153 21 12 115 225 161 306 407 355 369 360 104 136 353 447 331 409 386
Weighied 2062 001 061 562 701 755 £ 565 o1 E o 508 222 73 T567 22 T5 307 225 235 327 382 310 £ 325 367 7 £ 87 385 £ 312
S o 5 [ 7 T 0 0 7 5 3 5 3 z T 0 T 3 T 5 5 0 3 0 0 T 5 0 T 5 Z 0
Much more likely % % % 2% % 0 - % % % 0 % % % % - % % % % 2% % % - - % 3% % 0 % % -
3 7 WX D
% @ % i ES = T % = T % % S 5 7 z 5 z 7 & = ) % 5 5 T 1 5 o 7 B 7
Somewhat more likely 4% 4% 4% 7% 5% 2% 5% 5% 5% 3% 4% 4% 5% 6% 4% 8% 40% 2% 3% 7% 7% 5% 5% 1% 2% 1% 11% 4% 2% 6% 6% 1%
€ £ WX WX W W b e e
o7 2 % o % % b % % % % % 5} 3 5 T 0 3 7 7T % © 2T 9 7 7 EE) 7 ™ a7 21 5
Somewhat less likely % % % % 5% % % 5% % &% % &% % % % % - % % 9% % % 7% % 2% % ™% 5% % 0% % %
3 € WX WX WX D °
3 710 o7 £ & 5] £ £ i T % o1 Ed = ] 3 z 3 % @ % @ £ & (3 @ = 3 T % EQ EJ
Much less fikely 5% 21% 0% 7% 2% 245 0% 6% 7% 5% 20% 7% % 7% 2% 1% 0% % % &% a% 1% 2% 9% 26% 325 5% 6% 26% % &% 9%
& < o x® Q q Q Q Q STOV STUW | STOW Za o
1532 5% 536 s 5% 570 2z a2z a5 372 atT Tz oz 51 T2z ) 7 115 Tz 152 71 295 25 %2 725 & % 9 325 £ 25 21
No change 74% 70% 79% 75% 7% 71% 80% 4% 72% 74% 1% 73% 75% 69% 79% 7% 42% 91% 7% 76% 74% 78% 5% 7% 69% 63% 66% 74% 68% 79% 80% 7%
L 3 KLV XY XV
I E N S N S - I S T - S - I S - T - - 7 T % T FE I 7T T I - T I - - 7 =7 a7 I I T
9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
109 54 55 52 a2 15 15 3 3 2 28 29 15 6 8 2 7 6 8 23 29 28 19 5 8 2 24 19 1 28 23 4
28 % 5% 5% o% % 2% % 5% % 5% % 5% % % % % % % % 9% 9% &% % % 2% % 4% &% 2% % % %
3 € WX WX WX W a 0 ° e
ey = 0 £ e 717 5 7 5% 105 @ &) 5 ® % 7 z O [ E3 5 EJ EY 7 %z [ % & w7 5 50 &
628 20% 5% 6% 6% % 27% T5% 21% 2% 21% 2a% 23% T8% 2% 7% 6% 0% 5% To% 1a% % 6% 9% 2% 2% 36 20% 21% 30% Ta% 1a% 21%
5 > q q q q q q STOV STOW a
Base: Excluding DKIPNA 530 05 225 Tao" To2 228 o Tarr o4 29 71 To6 G0 3 o 5 =3 3 I Tor 00" B o 3 o7 50 23 T
i ) Y 7 T o 7 7 5 3 5 3 z . 3 5 5 7 3 0 0 T 5 3 T 0 z 0
Much more likely 4% 3% 4% 8% 4% 1% - 3% 4% 6% 2% 3% 4% 8% - 29% 9% 7% 4% 4% - - 2% 8% 5% 1% 8% 3% -
€ € 7 WX WX b e
% ) % T £ ) T % £ T % % b 5 7 z 5 z 7 ™ =% ) T 5 5 T 15 i o 2z 2T 7
Somewhat more likely 17% 14% 21% 2% 2% 6% 25% 18% 16% 13% 15% 15% 21% 20% 20% 33% 69% 20% 13% 31% 28% 24% 20% 6% 8% 2% 33% 17% 6% 27% 28% 6%
3 € WX | wx | WX | WX b 0 ° e
o7 @ % @ 3 ) ] % E3 % = E3 ) 3 5 T o 3 7 2T £ & 2T g 7 7 ] 7 12 37 2T 7
Somewhat less likely 20% a5 29% 5% 2% %% 2% 19% 20% 2% 7% 2% 18% 5% 2% 9% - 245 3% 36 4% 20% 2% 2% % % 21% 9% % 6% 26% 1%
) € € WX WX X WX b b e e
31 216 o4 3 23 95 3T & T T 5 o1 = = 1 3 z 3 % @ % a % & % @ = 5 ey i £l %
Much less likely 59% 69% 46% 28% 51% 85% 53% 61% 60% 59% 67% 61% 57% 57% 54% 48% 17% 27% 51% 24% 30% 52% 49% 82% 85% 86% 39% 59% 85% 20% 40% 83%
B c o) ST s STOV sTOV z Z < o
0 0 0 G 0 0 o G o G o G o G o G o G o G o 0 o 0 0 0 o 0 0 0 o 0
No change - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
S 530 305 225 T30 o2 228 % 7 o4 20 T To6 % £ 5 0 £ 5 7 3 00 5 % 3 57 % 7 T
'oma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
100 3 55 52 [ 15 15 30 39 25 28 29 15 6 8 2 7 6 8 23 29 23 19 5 8 2 2 19 f 28 23 4
28 20% 16% 2a% 3% 26% % 25% 21% 20% 19% 6% 7% 25% 29% 2% 3% 3% a9 6% 0% 5% 26% 2% % % 5% 0% 2% % 5% 2% %
3 3 WX WX WX WX b b e e
oy 752 ™0 £ 1% iy [ 17 5% 105 @ T3 [ © % 7 z 5 [ 3 5 EY © 7 %2 % 3% & a7 52 £l &7
628 0% 82% 6% 3% a% [ 75% 9% 0% B1% 4% B3% 5% 1% % 7% 7% S1% 4% 0% 5% 2% 76% oa%% 2% 5% 5% 9% 93% 5% 6% 4%
o) STOV STOV z Za e

ProportionsiMeans: Columns Tested (5% sk level) - AIB - CIDIE - FIGIH/ - JIK/LIMINIOJPIQIR - SITIUNIWIXIY - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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6. Thinking about the past few weeks, have any of the following issues influenced which party you are voting for?

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The TheNew  The Bloc votelNoneW  Don't
Conservativ TheLiberal Democratic Québécois TheGreen  People's  Orsome  ouldspoil  Know/Not
TOTAL Female < Univ Grad e Party Party Party (NDP) Q) Party Party other party _ballot
A H I
Base: Change inlikelihood to vote for parly 1534 730 804 358 538 638 69 215 682 508 438 484 180 1s 133 2 10 51 102 126 232 286 252 268 285 8 13 270 347 25 268 201
Weighied 513 752 731 19 780 6514 2057 709 519 380 775 51 197 6 407 207 T3 T 067 1867 232 266 214 249 256 T05° 45" 256 378 270 225 237
A 278 274 1 Tos 216 ] 59 T 6 7 To1 3 7 5 3 B B 6 2 5 6 75 7S E i1 E] 50 T 2 = 7
Healhcare. 36% 36% 3% 1% 3% 35% 8% 39% 5% 3% 29% 0% 9% 26% 0% 12% 36% 50% 3% 2% 3% 32% 31% 32% 31% 37% 0% 31% 31% 2% 38% 3%
T (I L I — 1T 1 ™ W
w28 25 79 116 T 197 54 20 148 3 148 20 51 ) il ) 3 bl 2 55 1 52 7 70 1 5 75 o1 ) i) 50 Ed
Immigration 28% 31% 20% 26% 23% 32% 3% 20% 20% 2% 3% 21% 26% 3% 26% 59% 20% 23% 21% 30% 26% 23% 23% 28% 32% 1% 31% 24% 7% 26% 22% 24%
5 — 1 o I I I oV a
EX £ 22 o1 7T 751 78 75 05 35 722 i) 7 5 ] T 5 7 B 77 (S 00 T 07 £ 5 i 03 70 5 ] £l
The economy 39% 0% 3% 39% 36% 1% 3% 3% 3% 36% 7% 39% 36% 2% 29% 3% 3% 0% 2% 4% 3% 38% 3% 3% 38% 1% 5% 0% 5% 35% 30% 34%
B 1 RIMNR
787 245 22 59 10 7 21 63 TIT % 72 75 % 7 7 7 ) 2 £ 7 5 7 78 04 EQ 55 50 a1 05 Ed i
Climate change 2% 31% 3% 38% 23% 5% 30% 5% 20% 20% 38% 38% 38% 54% 15% 3% 3% 21% 3% 3% 23% 23% 31% 1% 33% 7% 19% 7% 39% 7% 32%
— o 1 T R IR R JKIMR ) oW W W a a a
=3 763 722 3 54 ] T30 o1 110 o1 33 E 5 £ 3 % 1 £ 7 72 03 51 78 76 ] 57 £ 7 % 3 70
Taxes 2% 3% 30% 3% 2% 1% 32% 3% 29% 0% 30% 28% 2% 20% 3% 5% 2% 3% 3% 3% 39% 2% 31% 30% 30% 39% 35% 31% 32% 29% 30%
RIMNG v v
164 73 T o1 57 &7 %0 75 7 a7 7% 8 i) T Eil T z 7 5 g % 30 i 3 2 1 0 % il 51 £ %
Abortion 12% % 15% 15% 12% 1% 10% 1% 14% 12% 10% 15% 1% 18% 15% % 18% 1% 9% 18% 2% 1% 1% 13% 9% 1% % % 10% 19% 1% 12%
A 3 3
75 78 57 £ i 5 3 50 5 £ 72 ] 3 £ o 2 5 3 = Ed £ [ Ed 8 5 o fE] i 5 = T
Same-sexmarriage 2% 10% 1% 19% % % 15% 12% 1% 10% 6% 1% 5% 1% - 15% 12% % 23% 16% % 7% 12% % % 18% 5% 10% 20% 12% 7%
O IR IR R TVWXY VXY a e
301 191 109 45 59 197 18 80 18 83 164 3 27 13 30 9 6 4 16 18 27 3 2 7 7 a7 19 2 140 27 27 56
Ethics Commissioners Report on SNC-Lavalin R = 2 | = | R L R LS
20% 2% 15% 1% 2% 32% % 20% 23% 2% 3% ™% 1% 19% 21% 36% 8% % 15% 10% 12% 1% 13% 28% 31% 3% 13% 1% 3% 10% 12% 20%
B =) F F KIWNGR K K K STOV STOV STOV 7 @
% 0 Ed 5 5 &5 2 7 Ed ) ] 9 2 2 T 2 5 T 0 7 2 7 T % 27 FE] g 7 75 5 g 20
Some other issue % 8% 5% W% % 1% 10% % % 6% % % 6% % 8% 5% 3% % 10% % 5% 1% 5% 10% 1% 12% 5% % 2% % % &%
) EY sU sU a <
357 163 195 77 3 16 2 07 1 &7 04 19 Ed 6 % 5 3 8 0 £ % & 3 61 61 3 9 T 73 59 & i
None of the above 20% 21% 27% 8% 28% 2% 21% 26% 2% 2% 2% 26% 19% 25% % 2% 20% 20% 8% 1% 20% 26% 31% 25% 2% 21% 12% 28% 19% 2% 28% 31%
A c I I I ST 7
S 3644 038 1706 031 017 596 529 004 1260 8z 77 091 778 136 350 57 i % 220 794 537 570 245 Gl 565 259 366 530 042 565 57 554
oma 241% 248% 233% 246% 212% 260% 257% 245% 245% 222% 248% 242% 243% 211% 249% 234% 304% 225% 208% 265% 231% 214% 208% 253% 260% 275% 246% 207% 276% 247% 217% 234%

Proportions/Means: Columns Tested (5% isk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIX/Y - Zlalb - clde Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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7. A provincial law to restrict or disallow public servants (including police officers, teachers, lawyers in provincial court, etc.) from wearing religious clothing and symbols, such as a crucifx, turban, hijab, etc., while they are at work. Do you support or oppose this?

GENDER EDUCATION DECIDED-VOTERS LEANERS FEMALE
Would not
The e Ney The Bloc vote/NoneW  Don't
Conservatiy Theliberal Democralic Québécois TheGreen  People's  Orsome  ouldspoil  Know/Not
TOTAL Male Female e Party Party  Party(NDP)  (BQ) Party Party otherparty ballot ure
A B c D E F I 3 K L M N o P R T X Y z b d e
Base: All ©espondents 2062 536 1126 767 762 101 ) 505 673 534 646 225 31 153 21 12 115 225 T61 306 707 35 369 360 04 136 a7 T 408 386
Weighted 2062 1001 061 552 701 301 569 591 501 588 508 202 73 1557 25 5+ 1307 223 235 320 382 319 339 323 136" 77 787 365 360 312
467 261 206 7 54 70 39 T67 51 84 57 A a8 5 S 2 %8 50 24 55 76 78 5 107 B E B a5 I 6 o1
strongly support 23% 26% 19% 1% 2% 23% 2% 20% 18% 31% 1% 7% 66% 10% 36% 25% 2% 23% 10% 16% 20% 25% 28% 33% 26% 1% 26% 30% 12% 19% 29%
B c T T KIN KNQR | || L S ST STU STV S z od
525 25 269 a1 80 a7 143 83 11 7 48 73 14 a1 0 6 33 53 57 £ o7 8 % 70 Ed 58 3 116 3 £ £
Somewhat support 25% 26% 25% 25% 26% 29% 25% 21% 2% 30% 2% 18% 19% 26% 0% 1% 26% 24% 2% 26% 25% 26% 28% 22% 28% 2% 24% 24% 20% 21% 28%
™
@78 208 268 5 75 158 75 37 158 37 114 159 56 7 El 5 0 % 15 E a1 £ 107 E3 &
Somewhat oppose. 23% 2% 25% 26% 25% 20% 15% 2% 23% 21% 19% 26% 23% 10% 22% 20% 2% 2% 1% 21% 2% 19% 28% 26% 21%
E E F M MM L )
502 276 316 199 01 202 59 49 82 T61 112 210 100 3 8 T 5 a0 a 52 £ 1% 47 103 6
strongly oppose 20% 28% 30% 35% 21% 25% 5% 26% 26% 3% 19% 35% 2% 5% 43% 2% 2% 3% 2% 29% 26% 28% 38% 28% 21%
— | [ | o Gl W JNR R R ™ Go
2062 T00L 1061 562 7oL 758 ER 560 6oL ER 3 608 242 7 58 24 5 T30 36 177 Bl 787 365 364 312
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
992 517 a75 218 334 439 157 282 350 202 362 235 8 62 56 19 10 61 103 81 137 174 161 189 177 73 87 169 260 131 166 179
28 8% 52% 5% 39% 8% 55% 52% 50% 51% 0% 62% 30% 5% 85% 5% 76% 66% % 46% 34% 2% 5% 50% 56% 55% 54% 49% 50% 53% 34% 46% 57%
—— 1 B8 | T [ o | 1 [ T [ T | [ FKNR | | JKINQR S S STU STU S © <@
1070 785 585 EQ 366 e 144 287 E 258 226 374 157 11 102 g 5 &l 120 158 186 208 158 150 146 & £ 168 227 %54 168 13
B28 52% a8% 55% 61% 52% 5% 8% 50% 9% 60% 38% 61% 65% 15% 65% 20% 30% 53% 5% 66% 58% 55% 50% 4% 5% 6% 51% 50% 7% 66% 54% 3%
A DE E [ | FoH M M [ M| £ ™ I TVWXY WX WX Ge e

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNVIWIX/Y - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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